Volume 44

Issue 37 - September 11, 2025

Rates

Pooled Money Investment Board

Notice of Investment Rates September 8 - September 14, 2025

Notices

Kansas Children's Cabinet and Trust Fund

Notice of Meeting

Kansas Department of Administration – Office of Accounts and Reports

Notice of Petroleum Storage Tank Release Trust Fund Unobligated Balances for September 2025

Kansas Governor's Grants Program

Notice of Available Grant Funding for the Federal Byrne State Crisis Intervention Program

Platinum Roofing & Restoration, LLC

Notice of Roofing Contractor Registration

Kansas Department of Health and Environment

Notice of Proposed Kansas Air Quality Class I Operating Permit Renewal for Quindaro Power Station

Notice of Proposed Kansas Air Quality Construction Permit for Altec Industries

Notice of Proposed Kansas/Federal Water Pollution Control Permits and Applications

Kansas Department of Administration – Office of Procurement and Contracts

Notice to Bidders for State Purchase

Kansas State Board of Regents Universities

Notice to Bidders for University Purchase

St. Matthew Catholic Church

Notice to Bidders for Access Control and Security Camera Systems

Workforce Alliance of South Central Kansas

Request for Proposals for Training Courses and Outreach and Recruitment Services

Johnson County Community College

Request for Proposals for Student Center Entry Site Lighting Upgrade

Kansas Department of Transportation

Request for Proposals for Embedded Construction Inspector(s)/Administrators(s) for District 1, Area 4 Request for Proposals for Construction Inspection Services for Projects in Multiple Counties

Legislative Branch

Legislative Administrative Services

Interim Committee Schedule September 8 - September 26, 2025

Bonds

City of Andover, Kansas

Summary Notice of Bond Sale

Regulations

Kansas Lottery

Temporary Administrative Regulations

Index to administrative regulations

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

State of Kansas

Pooled Money Investment Board

Notice of Investment Rates

The following rates are published in accordance with K.S.A. 75-4210. These rates and their uses are defined in K.S.A. 12-1675(b)(c)(d) and K.S.A. 12-1675a(g).

Effective 9-8-25 through 9-14-25

Term	Rate
1-89 days	4.33%
3 months	4.04%
6 months	3.92%
12 months	3.79%
18 months	3.66%
2 years	3.58%

Joel Oliver Executive Director Chief Investment Officer Pooled Money Investment Board

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

State of Kansas

Kansas Children's Cabinet and Trust Fund

Notice of Meeting

The Kansas Children's Cabinet and Trust Fund quarterly virtual board meeting is scheduled for 9:00 a.m. to 1:00 p.m. Friday, October 3, 2025. The agenda can be found at http://www.kschildrenscabinet.gov.

Melissa Rooker Executive Director Kansas Children's Cabinet and Trust Fund

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

State of Kansas

Department of Administration Office of Accounts and Reports

Public Notice

Under requirements of K.S.A. 65-34,117(c), as amended, records of the Office of Accounts and Reports show the unobligated balances are \$8,585,855.37 in the Underground Petroleum Storage Tank Release Trust Fund and \$4,349,717.86 in the Aboveground Petroleum Storage Tank Release Trust Fund at August 31, 2025.

Nancy Ruoff
Director
Office of Accounts and Reports
Department of Administration

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

State of Kansas

Kansas Governor's Grants Program

Notice of Available Grant Funding

The Kansas Byrne State Crisis Intervention Program Advisory Board (SCIP Advisory Board) establishes the guidelines for the Federal Byrne State Crisis Intervention Program (SCIP) grant program. The SCIP Solicitation outlines the funding priorities for organizations applying for SCIP grant funds. The funds are intended to assist state, local, and tribal efforts to prevent or reduce gun violence and violent crime. Eligible applicants for SCIP funding include units of state and local government; Courts, Native American Tribes; and nonprofit, community, and faith-based organizations.

The SCIP Solicitation can be downloaded at https://www.grants.ks.gov/grant-programs/federal-byrne-state-crisis-intervention-program-scip.

All grant applications must be submitted by email to kggpapp@ks.gov by 11:59 p.m. October 16, 2025. For more information, contact the Kansas Governor's Grants Program at 785-291-3205 or kggp@ks.gov.

Juliene Maska Administrator Kansas Governor's Grant Program

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

(Published in the Kansas Register September 11, 2025.)

Platinum Roofing & Restoration, LLC

Notice of Roofing Contractor Registration

Platinum Roofing & Restoration LLC hereby gives notice of application for registration as a roofing contractor in the state of Kansas in compliance with K.S.A. 50-6,121 et seq.

Dated September 5, 2025.

Luciana Ponce Owner Platinum Roofing & Restoration, LLC 1308 S. Blackwelder Oklahoma City, OK 73108

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

State of Kansas

Department of Health and Environment

Notice of Proposed Kansas Air Quality Class I Operating Permit Renewal

Notice is hereby given that the Kansas Department of Health and Environment (KDHE) is soliciting comments regarding a proposed air quality operating permit. Quindaro Power Station has applied for a Class I operating permit renewal in accordance with the provisions of K.A.R. 28-19-510 et al. The purpose of a Class I permit is to identify the sources and types of regulated air pollutants emitted from the facility; the emission limitations, standards, and requirements applicable to each source; and the monitoring, record keeping, and reporting requirements applicable to each source as of the effective date of permit issuance.

Quindaro Power Station, 4240 N. 55th St., Kansas City, KS 66104, owns and operates electric power station located at 3601 N. 12th St., Kansas City, Wyandotte County, KS 66104.

A copy of the proposed permit, permit application, all supporting documentation, and all information relied upon during the permit application review process are available for public review during normal business hours of 8:00 a.m. to 5:00 p.m. at the KDHE, Bureau of Air (BOA), 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366 and at the United Government of Wyandotte County, Kansas City Health Department, 619 Ann Ave., Kansas City, KS 66101. To obtain or review the proposed permit and supporting documentation, contact Angela Bryson at the central office of KDHE at 785-296-3589, or Jennifer Stewart at the United Government of Wyandotte County, Kansas City Health Department at 913-573-6700. The standard departmental cost will be assessed for any copies requested. The proposed permit, accompanied with supporting information, is available, free of charge, at the KDHE BOA Public Notice website at https://www.kdhe.ks.gov/413/Public-Notices.

Please direct written comments or questions regarding the proposed permit to Angela Bryson, KDHE, BOA, 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received no later than 12:00 p.m. Monday, October 13, 2025.

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Angela Bryson, KDHE BOA, 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366, no later than 12:00 p.m. Monday, October 13, 2025, in order for the Secretary of Health and Environment to consider the request.

The United States Environmental Protection Agency (USEPA) has a 45-day review period, which will start concurrently with the public comment period, within which to object to the proposed permit. If the USEPA has not objected in writing to the issuance of the permit within the 45-day review period, any person may petition the administrator of the USEPA to review the permit. The 60-day public petition period will directly follow the USEPA 45-day review period.

Any such petition shall be based only on objections to the permit that were raised with reasonable specificity during the public comment period provided for in this notice, unless the petitioner demonstrates that it was impracticable to raise such objections within such period, or unless the grounds for such objection arose after such period. Contact Ward Burns, USEPA, Region 7, Air Permitting and Standards Branch, 11201 Renner Blvd., Lenexa, KS 66219, phone 913-551-7960, to determine when the 45-day USEPA review period ends and the 60-day petition period commences.

The preceding notice refers to the air permit for Quindaro Power Station located at 3601 N. 12th St., Kansas City, Wyandotte County, KS 66104. If you want more information or you have other questions, please contact the KDHE Non-Discrimination coordinator and call 785-296-5156 or send an email to: KDHE.NonDiscrimination@ks.gov. [El aviso anterior se refiere al permiso de aire para Quindaro Power Station ubicado en 3601 N. 12th St., Kansas City, Wyandotte County, KS 66104. Si desea obtener más información en español o tiene otras

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

preguntas, por favor, comuníquese con el Coordinador de No Discriminación de KDHE y llame al 785-296-5156 o envíe un correo electrónico a: KDHE.NonDiscrimination@ks.gov.]

Janet Stanek Secretary Department of Health and Environment

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

State of Kansas

Department of Health and Environment

Notice of Proposed Kansas Air Quality Construction Permit

Notice is hereby given that the Kansas Department of Health and Environment (KDHE) is soliciting comments regarding a proposed air quality construction permit. Altec Industries has applied for an air quality construction permit in accordance with the provisions of K.A.R. 28-19-300. Emissions of volatile organic compounds (VOC), particulate matter (PM), particulate matter with less than or equal to 10 microns in aerodynamic diameter (PM $_{10}$), particulate matter with less than or equal to 2.5 microns in aerodynamic diameter (PM $_{2.5}$), carbon monoxide (CO), oxides of nitrogen (NO $_{\rm X}$), oxides of sulfur (SO $_{\rm X}$), and hazardous air pollutants (HAPs), individual HAP (Styrene, Methyl Methacrylate) were evaluated during the permit review process.

Altec Industries, 2106 South Riverside Rd., St. Joseph, MO 64507, owns and operates a facility where booms (also known as lifts) and platforms that are assembled onto trucks utilized by utility companies located at 1009 Vernon Rd., Wathena, Doniphan County, KS 66090-1258, at which revision of emission factor for Styrene and Dimethyl phthalate (DMP) in Boom casting operations (BC-1) and addition of miscellaneous sources and tank emissions are to be incorporated.

A copy of the proposed permit, permit application, all supporting documentation, and all information relied upon during the permit application review process are available for public review from the date of publication during normal business hours at the KDHE, Bureau of Air (BOA), 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366 and at the Northeast District Office, 800 W. 24th St., Lawrence, KS 66046. To obtain or review the proposed permit and supporting documentation, contact Prashant Rimal at the central office of KDHE at 785-296-8548, or Byron Dotson at the Northeast District Office at 785-330-8605. The standard departmental cost will be assessed for any copies requested. The proposed permit, accompanied with supporting information, is available, free of charge, at the KDHE BOA Public Notice website at https://www.kdhe.ks.gov/413/Public-Notices.

Please direct written comments or questions regarding the proposed permit to Prashant Rimal, KDHE, BOA, 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received no later than 12:00 p.m. Monday, October 13, 2025.

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Prashant Rimal, KDHE, BOA, 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366, no later than 12:00 p.m. Monday, October 13, 2025, in order for the Secretary of Health and Environment to consider the request.

The preceding notice refers to the air permit for Altec Industries located at 1009 Vernon Rd., Wathena, Doniphan County, KS 66090-1258. If you want more information or you have other questions, please contact the KDHE Non-Discrimination coordinator and call 785-296-5156 or send an email to: KDHE.NonDiscrimination@ks.gov. [El aviso anterior se refiere al permiso de aire para Altec Industries ubicado en 1009 Vernon Rd., Wathena, Doniphan County, KS 66090-1258. Si desea obtener más información en español o tiene otras preguntas, por favor, comuníquese con el Coordinador de No Discriminación de KDHE y llame al 785-296-5156 o envíe un correo electrónico a: KDHE.NonDiscrimination@ks.gov.]

Janet Stanek Secretary Department of Health and Environment

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

State of Kansas

Department of Health and Environment

Notice of Proposed Kansas/Federal Water Pollution Control Permits and Applications

In accordance with Kansas Administrative Regulations 28-16-57a through 63, 28-18-1 through 17, 28-18a-1 through 31 and 33, 28-16-150 through 154, 28-46-7, and the authority vested with the state by the administrator of the U.S. Environmental Protection Agency, various draft water pollution control documents (permits, notices to revoke and reissue, notices to terminate) have been prepared and/or permit applications have been received for discharges to waters of the United States and the state of Kansas for the class of discharges described below.

The proposed actions concerning the draft documents are based on staff review, applying the appropriate standards, regulations, and effluent limitations of the state of Kansas and the Environmental Protection Agency. The final action will result in a Federal National Pollutant Discharge Elimination System Authorization and/or a Kansas Water Pollution Control permit being issued, subject to certain conditions, revocation, and reissuance of the designated permit or termination of the designated permit.

Las acciones propuestas con respecto a los documentos preliminares se basan en la revisión del personal, aplicando los estándares, regulaciones y limitaciones de efluentes apropiados del estado de Kansas y de la Agencia de Protección Ambiental de Estados Unidos. La acción final resultará en la emisión de una Autorización Federal del Sistema Nacional de Eliminación de Descargas de Contaminantes y un permiso de Control de Contaminación del Agua de Kansas, sujeto a ciertas condiciones, revocación y reemisión del permiso designado o terminación del permiso designado. Si desea obtener más información en español o tiene otras preguntas, por favor, comuníquese con el Coordinador de No Discriminación al 785-296-5156 o en: KDHE. NonDiscrimination@ks.gov.

Public Notice No. KS-AG-25-244/249

Pending Permits for Confined Feeding Facilities

Legal Description

A&L Pruitt Farms, LLC SW/4 of Section 21 1018 W. 160th Dr. T08S, R12W Osborne, KS 67473 Osborne County

Kansas Permit No. A-SOOB-B015

Name and Address of Applicant

The proposed action is to reissue an existing state permit for an existing facility for 999 head (999 animal units) of cattle more than 700 pounds. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant

Beachy Dairy William Beachy 6202 S. Whiteside Rd. Hutchinson, KS 67501

Legal Description

NW/4 of Section 08 T24S, R06W Reno County

Receiving Water

Receiving Water

Solomon River Basin

Lower Arkansas River Basin

Kansas Permit No. A-ARRN-M040

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

Lower Arkansas River Basin

The proposed action is to reissue an existing state permit for an existing facility for 80 head (112 animal units) of mature dairy cattle, 45 head (45 animal units) of cattle weighing more than 700 pounds, 40 head (20 animal units) of cattle weighing less than 700 pounds, 1 chicken with other than liquid manure systems (0.01 animal units), 9 laying hens with other than liquid manure systems (0.11 animal units), and 3 horses (6 animal units) for a total capacity of 183.12 animal units. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant Legal Description Receiving Water

Dan Lauer FarmsSW/4 of Section 14Daniel LauerT29S, R02W14630 W. 95th St. SouthSedgwick County

Clearwater, KS 67026

Kansas Permit No. A-ARSG-B004

The proposed action is to reissue an existing state permit for an existing facility for 336 head (168 animal units) of cattle weighing less than 700 pounds. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant Legal Description Receiving Water

David and Dawn Lane Living Trust SE/4 of Section 09 Lower Arkansas River Basin David Lane T27S, R02W
1601 N. 167th St. West Sedgwick County
Goddard, KS 67052

Kansas Permit No. A-ARSG-M040

The proposed action is to reissue an existing state permit for an existing facility for 100 head (140 animal units) of mature dairy cattle and 20 head (10 animal units) of cattle weighing less than 700 pounds, for a total of 150 animal units. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of ApplicantLegal DescriptionReceiving WaterFrey Jersey FarmSW/4 of Section 11Kansas River Basin

Michael Frey

T11S, R10E

27461 Hereford Rd.

Wabaunsee County

Wamego, KS 66547

Kansas Permit No. A-KSWB-M004

The proposed action is to modify and reissue an existing state permit for a facility for 95 head (133 animal units) of mature dairy cattle, 20 head (20 animal units) of cattle weighing greater than 700 pounds, and 75 head (37.5 animal units) of cattle weighing less than 700 pounds; for a total of 190.5 animal units. This permit is being modified to add a leveling bench for runoff from the manure solids structure, prior to the grass buffer. There is no change in the permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

Name and Address of Applicant

McCabe Genetics Randel and Flinton McCabe 6075 CR 1950 Elk City, KS 67344

Legal Description

W/2 of Section 16 T31S, R14E Montgomery County

Receiving Water

Verdigris River Basin

Kansas Permit No. A-VEMG-S025

The proposed action is to reissue an existing state permit for an existing facility for 750 head (300 animal units) of swine weighing greater than 55 pounds and 699 head (349.5 animal units) of cattle weighing less than 700 pounds. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Persons wishing to comment on or object to the draft documents and/or permit applications must submit their comments in writing to the Kansas Department of Health and Environment (KDHE) if they wish to have the comments or objections considered in the decision-making process. All written comments regarding the draft documents, application or registration notices received on or before October 11, 2025, will be considered in the formulation of the final determination regarding this public notice. Please refer to the appropriate Kansas document number (KS-AG-25-244/249) and name of the applicant/permittee when preparing comments.

All comments received will be responded to at the time the Secretary of Health and Environment issues a determination regarding final agency action on each draft document/application. If response to any draft document/application indicates significant public interest, a public hearing may be held in conformance with K.A.R. 28-16-61 (28-46-21 for UIC). A request for public hearing must be submitted in writing and shall state the nature of the issues proposed to be raised during the hearing.

Comments or objections for agricultural related draft documents, permit applications, registrations or actions should be submitted to the attention of Casey Guccione, Livestock Waste Management Section at the KDHE, Bureau of Environmental Field Services (BEFS), 1000 SW Jackson, Suite 430, Topeka, KS 66612. Comments or objections for all other proposed permits or actions should be sent to Andrew Bowman at the KDHE, Bureau of Water, 1000 SW Jackson St., Suite 420, Topeka, KS 66612.

All draft documents/applications and the supporting information including any comments received are on file and may be inspected at the offices of the KDHE. For agricultural related draft documents or applications an appointment can be scheduled, or copies requested by contacting Jada Martin at 1000 SW Jackson St., Suite 430, Topeka, KS 66612, telephone 785-296-0076 or email at kdhe.feedlots@ks.gov. Las preguntas o comentarios por escrito deben dirigirse a Erich Glave, Director, Bureau of Environmental Field Services en KDHE: 1000 SW Jackson St., Suite 430, Topeka, KS 66612-1367; por correo electrónico: kdhe.feedlots@ks.gov; por teléfono: 785-296-6432. For all other proposed permits or actions an appointment can be scheduled, or copies requested by contacting Jamie Packard, Bureau of Water, 1000 SW Jackson St., Suite 420, Topeka, KS 66612, telephone 785-296-4148 or email at Jamie.Packard@ks.gov. These documents are available upon request at the copying cost assessed by KDHE. Application information and components of plans and specifications for all new and expanding swine facilities are available at http://www.kdhe.ks.gov/livestock. The Division of Environment offices are open from 8:00 a.m. to 5:00 p.m., Monday through Friday, excluding holidays.

Janet Stanek Secretary Department of Health and Environment

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

State of Kansas

Department of Administration Office of Procurement and Contracts

Notice to Bidders

Sealed bids for items listed will be received by the Office of Procurement and Contracts until 2:00 p.m. on the date indicated. For more information, call 785-296-2376.

All bids are to be submitted via email only to procurement@ks.gov. For more information, please visit https://supplier.sok.ks.gov/psc/sokfsprdsup/SUPPLIER/ERP/c/SCP_PUBLIC_MENU_FL.SCP_PUB_BID_CMP_FL.GBL.

09/30/2025	EVT0010412	Various NEW and USED Side-by-Side ATV/UTV – Statewide – Department of Administration
10/09/2025	EVT0010480	Fish Food, All KDWP Hatcheries – Department of Wildlife and Parks
10/14/2025	EVT0010477	Telemedicine Psychiatric Services – Larned State Hospital

The above referenced bid documents can be downloaded at the following website:

https://supplier.sok.ks.gov/psc/sokfsprdsup/SUPPLIER/ERP/c/SCP_PUBLIC_MENU_FL.SCP_PUB_BID_CMP_FL.GBL

Additional files may be located at the following website (please monitor this website on a regular basis for any changes/addenda):

https://admin.ks.gov/offices/procurement-contracts/bidding--contracts/additional-bid-opportunities

09/24/2025	A-015383	Exterior AMD Structural Repairs – JFHQ Old FMS #9 – Adjutant General's Department
09/24/2025	A-015410	Sewer Vent Replacement – Nickell Hall – Adjutant General's Department
09/30/2025	A-015309	Bariatric Room and Shower Room – Halsey Hall – Kansas Soldiers' Home
10/02/2025	A-015119	DFS and ELP Renovation – Phase 1 – Fairchild Hall – Kansas State University
10/02/2025	A-015206	KFS Head House and Greenhouse Improvements – Kansas State University
10/09/2025	A-015109	Ellsworth Safety Rest Area Lagoon Repair – Department of Transportation

Information regarding prequalification, projects, and bid documents can be obtained at 785-296-8899 or http://admin.ks.gov/offices/ofpm/dcc.

Todd Herman
Director
Office of Procurement and Contracts
Department of Administration

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

State of Kansas

Board of Regents Universities

Notice to Bidders

Emporia State University – Bid postings: https://www.emporia.edu/about-emporia-state-university/business-office/purchasing. Additional contact info: phone: 620-341-5137, email: purchaseorders@emporia.edu. Mailing address: Emporia State University Purchasing, Campus Box 4021, 1 Kellogg Cir., Emporia, KS 66801.

Fort Hays State University – Electronic bid postings: http://www.fhsu.edu/purchasing/bids. Additional contact info: phone: 785- 628-4251, email: purchasing@fhsu.edu. Mailing address: Fort Hays State University Purchasing Office, 601 Park St., Sheridan Hall 318, Hays, KS 67601.

Kansas State University – Bid postings: https://bidportal.ksu.edu. Effective August 1, 2023, all bids, quotes, or proposals must be submitted via the Kansas State University Bid Portal at https://bidportal.ksu.edu. Division of Financial Services/Purchasing, 2323 Anderson Ave., Kansas State University, Manhattan, KS 66506. Additional contact information, phone: 785-532- 6214, email: kspurch@k-state.edu.

Pittsburg State University – Bid postings: https://www.pittstate.edu/office/purchasing. Additional contact info: phone: 620-235-4167, email: purch@pittstate.edu. Mailing address: Pittsburg State University, Purchasing Office, 1701 S. Broadway, Pittsburg, KS 66762.

University of Kansas – Electronic bid postings: http://www.procurement.ku.edu/. The University of Kansas exclusively uses the online eBid tool and will no longer accept paper responses unless otherwise specified in a solicitation. Additional contact information, email: purchasing@ku.edu. Mailing address: University of Kansas, Procurement Department, 1246 W. Campus Road Room 20, Lawrence, KS 66045.

University of Kansas Medical Center – Electronic bid postings: https://www.kumc.edu/finance/supply-chain/bid-opportunities.html. Additional contact information, phone: 913-588-1117, email: hunkemoore@kumc.edu. The University of Kansas Medical Center accepts only electronic bids.

Wichita State University – Bid postings: https://www.wichita.edu/services/purchasing/Bid_Documents/BidDocuments.php. Additional contact information, phone: 316-978-3080, fax: 316-978-3738, email: purchasing. office@wichita.edu. Mailing address: Wichita State University, Office of Purchasing, 1845 Fairmount Ave., Campus Box 38, Wichita, KS 67260-0038.

Ashley Brandt, MBA Director of Procurement Business Office Emporia State University

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

(Published in the Kansas Register September 11, 2025.)

St. Matthew Catholic Church

Notice to Bidders

Sealed bids for Bid #1–Access Control System and Security Camera System plus accessories will be accepted by St. Matthew Catholic Church, until 2:00 p.m. (Central Time), September 24, 2025, at 2700 SE Virginia Topeka, KS 66605, at which time they will be publicly opened and read aloud at the same address. Copies of Instructions to Bidders and project specifications can be accessed by contacting Galen Greenwood at gdsmgreenwood@yahoo.com or 785-806-7344. Estimated value exceeds \$25,000.

Galen Greenwood Facilities Administrator St. Matthew Catholic Church

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

(Published in the Kansas Register September 11, 2025.)

Workforce Alliance South Central Kansas

Request for Proposals

The Workforce Alliance of South Central Kansas, located in Wichita, Kansas, is accepting proposals from qualified training entities to provide training course(s) to qualified participants and another request seeking proposals to provide outreach and recruitment services both for an EPA Brownfields Grant. Requests for Proposals (RFPs) will be available for distribution September 3, 2025. The RFP is available at http://www.workforce-ks.com/rfps. Please contact Chad Pettera at 316-771-6602 or CPettera@Workforce-ks.com for questions or difficulties. Proposals for both RFPs must be received no later than 12:00 p.m. October 3, 2025. The Workforce Alliance welcomes all interested parties to bid and reserves the right to accept or reject any or all applications received, or to negotiate with qualified bidders.

Chad Pettera
Vice President
Chief Operating Office
Workforce Alliance of South Central Kansas

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

(Published in the Kansas Register September 11, 2025.)

Johnson County Community College

Request for Proposals

Johnson County Community College is accepting bid proposals for Student Center Entry Site Lighting Upgrade (RFB 25-213). Solicitation documents may be obtained via the College's eProcurement site and public bulletin board, ProcureWare, at https://jccc.procureware.com/home. Call 913-469-3812 or email procurement@jccc.edu if you have questions or need assistance. Bids received through ProcureWare no later than 2:00 p.m. (Central Time) October 1, 2025, will be evaluated. Upon completion of the evaluation, ProcureWare will be updated with contract award information.

Larry Allen Senior Buyer Campus Services Johnson County Community College

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

State of Kansas

Department of Transportation

Request for Proposals

FC-1001-26-Embedded Construction Inspector(s)/Administrator(s) for District 1, Area 4-r2

Notice to Consulting Firms

The Kansas Department of Transportation (KDOT) is seeking a qualified consulting firm or team of firms to supply personnel to perform professional services as described below. Interested consultants must upload a proposal by 12:00 p.m. (Central Time) September 25, 2025, to the Bid Express page to be considered for selection.

Consultant Prequalification

Interested consulting firms must be prequalified by KDOT or otherwise demonstrate qualification in the following category(s):

241 – Construction Inspection and Testing

If a firm is not currently prequalified by KDOT, a proposal may still be submitted. Firms not prequalified must also provide documentation that demonstrates the firm is qualified for each specified category listed in this notice for the project. Firms must use the KDOT prequalification form to provide this documentation. KDOT 1050 Prequalification Category Definitions (Blue Book) can be found at https://www.ksdot.gov/doing-business/design-consultants/design-consultant-prequalification. Consultants may create a team to meet the prequalification requirements. All firms doing business with KDOT must be registered and in good standing under the laws of the State of Kansas at the time of contracting and must comply with applicable state and federal laws, rules, and regulations.

Anticipated Consultant Scope

KDOT anticipates the following to be included in the consultant's scope: Construction inspection/testing in the form of full time, in-house, technical and construction contract administration assistance to KDOT's District 1, Area 4 Topeka, Kansas Construction Office. Scope will include assistance with construction project supervision, inspection staffing, and contract administration. Consultant staff may serve as project supervisor of complex construction projects and/or multiple smaller projects. See Attachment for additional details.

Consultant staff will be utilized a minimum of 40 hours/week excluding holidays. Hours may be split between two employees of the firm. Contract period will be one year with an optional one-year extension.

Anticipated Schedule and Key Dates

- 1. Proposals are due by or before 12:00 p.m. (Central Time) September 25, 2025.
- 2. Ranking of proposals is expected to occur on or around September 26, 2025. Negotiations with the most highly ranked firm are expected to begin on or around September 29, 2025. An executed agreement is anticipated shortly thereafter.
- 3. Anticipated Start Date: As soon as under contract.

Instructions for Proposal

- 1. No cost or pricing information shall be submitted with the proposal. Proposals including cost or pricing information will be considered non-responsive and withdrawn from further consideration.
- 2. The consultant's proposal must not exceed 4 pages total (including any cover letter, index, etc.)
- 3. A single PDF (10MB maximum size) of the proposal including all attachments must be uploaded to the appropriate bid form on Bid Express by the proposal due date and time.
- 4. The subject line of the email and the PDF file name must read:

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

- a. "FC-1001-26-EmbedConstInsp.Admin in D1A4 Topeka FIRM NAME"
- 5. The proposal must be accompanied by Special Attachments No. 8 ("Tax Clearance Certificate"); No. 10 ("Policy Regarding Sexual Harassment") and No. 12 ("Certification of Company Not Currently Engaged in the Procurement or Obtainment of Certain Equipment, Services, or Systems"). If you need a Tax Clearance Certificate, you can request one here at https://www.ksrevenue.gov/taxclearance.html. Allow 2-3 business days for processing. All attachments are required for every firm involved in a multi-consultant team. Upload these files as instructed in Bid Express.
- 6. The outline in Table 1 below describes the expected proposal organization and content sections.
- 7. Table 2 lists the evaluation criteria and associated weights which will be used to make a selection.

Table 1: Proposal Content

Section	Description of Intent
Cover Letter	(no more than 1 page)
Project Approach	Describe how your firm will meet the fluctuating needs of the project.
Approach to Quality Control	Describe methods or procedures your firm will use to provide all services with professional quality and technical accuracy.
Qualifications and Experience	For key personnel to be assigned to the project provide names, qualifications, education, training, and expertise. Identify their area(s) of responsibility an percent of their time dedicated to the project. List work for which you do not have in-house capability and name the firm you propose to subcontract with if any.
Past Performance	Describe team's past performance with respect to ability to meet project schedules; quality of work; and ability to control costs on similar transportation projects, especially those performed for KDOT. Include three references and contact information.
Familiarity with KDOT and Project Area	Describe team's familiarity with KDOT's processes and standards. Describe familiarity with the project area and any identified special site conditions.

Table 2: Evaluation Factors

Evaluation Factor	Weight
The quality and completeness of the response	10%
Availability to respond to the work	20%
Qualifications and experience of key project team members proposed for services	20%
Past performance history for similar projects/services for KDOT	20%
Understanding of the District and Area	10%
Understanding of KDOT contract administration and closeout procedures	20%

Contract Terms and Conditions

A standard KDOT agreement for engineering and technical services will be used for professional services projects. The following special attachments will need to be provided by the selected consultant and all subconsultants if any, with the signed work order following negotiations and will become attachments to the contract.

- Special Attachment No. 8 ("Tax Clearance Certificate")
- · Special Attachment No. 10 ("Policy Regarding Sexual Harassment")

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

 Special Attachment No. 12 ("Certification of Company Not Currently Engaged in the Procurement or Obtainment of Certain Equipment, Services, or Systems")

Questions

All questions regarding this Request for Proposals shall be submitted via Q&A section of bid form in Bid Express.

Questions can be submitted until September 16, 2025; answers will be provided to all prequalified consultants on September 18, 2025.

Attachment: Additional Details

Embedded Consultant for KDOT's District 1 Area 4 Construction Office in Topeka, Kansas

The KDOT District 1, Area 4 construction office located in Topeka, Kansas, is requesting an embedded consultant to provide full time, in-house, technical and construction contract administration expertise.

Construction Office Contract Administration

Under the direction of the Metro Engineer (ME, Field Engineering Administrator (FEA) or Construction Engineer (CE), assist with construction project contract administration. The consultant may work on measurement and computations for 402 projects and finagling documentation. Will assist the Office Coordinator to ensure documentation, estimates and reports are completed in a timely manner.

Duties include, but are not limited to:

- Deep reviews of DWRs, postings, certifications, estimates, payroll, and deviation reports. Create
 correspondence to get corrections made for this documentation and work directly with the lead inspectors
 to determine what is need and how to make the corrections.
- Responsible for the review or compilation of project documentation for all phases of work performed to substantiate the contract payments. This documentation includes daily diaries, weekly recaps, test reports, final papers, and data entered into AASHTOWare.
- Review working day charged documentation and documentation on liquidated damages.
- Represent the Kansas Department of Transportation in all project-related meetings and conferences and take notes at these meetings.
- Provide guidance and instruction to the construction staff in the review of construction plans such as verifying steel quantities, grade computations, earthwork quantities and computations for change orders.
- Create Advance Requests, change orders and have proper documentation including comps, emails and letters.
- Represent the Kansas Department of Transportation on construction project related decisions.

Mentoring Resource

The consultant will serve as a mentor and provide effective leadership to less experienced Technicians and Engineering Associates on AWP and creation of 402s. This training will be used to assist the ME, FEA or CE to create a more effective inspection staff for the construction office.

Provides other project related construction assistance to the ME, FEA and CE as directed.

Construction Plan Development

Reviews or prepares documents for field-designed projects such as 1R projects, bridge set-aside projects, culvert set-aside projects and 3R major modifications. This includes field measuring, quantity computations, drafting of plan sheets and field surveys. This also includes participation in field checks and plan reviews as necessary.

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

Qualifications

- As stated above, the firm must be prequalified by KDOT and otherwise demonstrate qualification in Category 241 Construction Inspection and Testing.
- Current CIT certifications in Basic Inspection, Asphalt Paving Inspection, Concrete Paving Inspection, Structures Inspection, ACI Concrete Field-Testing Technician, Aggregate Field Technician.
- · Strong communication and interpersonal skills to represent the Kansas Department of Transportation.
- Expert proficiency with KDOT's construction management software AASHTOWare for both roles as Projman and Estimation.
- Has a strong background in completing projects finals timely, correcting exceptions for insufficient testing entries, insufficient certifications and payroll insufficiencies.

This is expected to be a full-time 40 hours / week excluding holidays plus potential approved overtime hours as the workload fluctuates) assignment based at the District 1, Area 4 Office in Topeka. The hours will be through one main person with two delegates. The delegates will meet the same qualifications as the main person and are intended to be used when the main person is on leave, unavailable or the workload has created a need for additional staff for a short period of time. The contract period will be one calendar year with an option for KDOT to add two one-year extensions.

Calvin Reed Secretary Department of Transportation

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

State of Kansas

Department of Transportation

Request for Proposals

Construction Inspection Services; Released September 2025

Notice to Consulting Firms

The Kansas Department of Transportation (KDOT) is seeking a qualified consulting firm, or team of firms, to perform construction inspection services on multiple projects in various counties. Summary information for each project is provided below in Table 1.

Interested consultants must upload a proposal by 12:00 p.m. (Central Time) October 1, 2025, to the Bid Express page to be considered for selection.

Consultant Prequalification

Interested consulting firms must be prequalified by KDOT or otherwise demonstrate qualification in the following category(s):

· 241 – Construction Inspection and Testing

If a firm is not currently prequalified by KDOT, a proposal may still be submitted. Firms not prequalified must also provide documentation that demonstrates the firm is qualified for each specified category listed in this notice for the project. Firms must use the KDOT prequalification form to provide this documentation. KDOT 1050 Prequalification Category Definitions (Blue Book) can be found at https://www.ksdot.gov/doing-business/design-consultants/design-consultant-prequalification. Consultants may create a team to meet the prequalification requirements. All firms doing business with KDOT must be registered and in good standing under the laws of the State of Kansas at the time of contracting and must comply with applicable state and federal laws, rules, and regulations.

Background and Scope:

With this single solicitation, KDOT is requesting consulting services for construction inspections on the projects listed in Table 1. This table provides summary information for each project. One consultant will be selected to perform services associated with the group listed.

Table 1: Summary of Project Information

Group	RT-CO	Project #	Scope, County	Anticipated Start	Working Days or CCD	Office	Comments
25555	U054-106	KA-6535-04	Grading, Bridge and Surfacing, Multiple	November 5, 2025	1100	Wichita Hillside	KDOT is seeking an experienced PM to oversee a complex project and mentor KDOT inspectors who have 0-5 years experience. Also, 1 bridge and 1 road lead that will oversee respective activities while mentoring KDOT inspectors with 0-5 years experience.

Additional project information including construction scope to be inspected, a detailed description of the project location, and resources and inspection scope specifically requested from consultants in this request can be viewed in an online table at https://ike.ksdot.gov/about/construction-inspection-rfps. Upon publication of this Request for Proposals, KDOT anticipates the inspection efforts will require full teams (project manager

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

and inspectors, as opposed to single role staff augmentation as is occasionally request) for various types of construction inspection except as noted in the table. Watch the website linked above for updated information. Tabulated information (both in this Request for Proposals and on the website) shall not be relied upon during inspections. It is provided for the convenience of consultants, specifically to aid in making decisions about which projects they are interested in performing.

Specific project needs are subject to modification and/or cancellation at KDOT's discretion.

Anticipated Consultant Scope

The scope of construction inspection services and certifications required for this project are listed in the table available on the website noted above. Inspection efforts will be managed out of the offices listed above in Table 1.

Anticipated Schedule and Key Dates

- 1. Proposals are due by or before 12:00 p.m. (Central Time) October 1, 2025.
- 2. Ranking of proposals is expected to occur on or around October 3, 2025. Negotiations with the most highly ranked firm are expected to begin on or around October 10, 2025. An executed agreement is anticipated shortly thereafter.
- 3. Anticipated scope start date and working days or anticipated calendar completion dates are shown in the table. All dates are subject to change.

Instructions for Proposal

- 1. No cost or pricing information shall be submitted with the proposal. Proposals including cost or pricing information will be considered non-responsive and withdrawn from further consideration.
- 2. The consultant's proposal must not exceed the page limit laid out in Table 2 below (including any cover letter, index, etc.). All pages shall be standard letter size (8.5" x 11"). Any page larger than standard letter size will be counted as two or more pages depending on size.
- 3. A single PDF (10MB maximum size) of the proposal including all attachments must be uploaded to the appropriate bid form on Bid Express by the proposal due date and time.
- 4. The proposal PDF file name must read:
 - a. "ConstInsp Projects_2025.09 Release FIRM NAME"
- 5. The proposal must be accompanied by Special Attachments No. 8 ("Tax Clearance Certificate"); No. 10 ("Policy Regarding Sexual Harassment") and No. 12 ("Certification of Company Not Currently Engaged in the Procurement or Obtainment of Certain Equipment, Services, or Systems"). If you need a Tax Clearance Certificate, you can request one at https://www.ksrevenue.gov/taxclearance.html. Allow 2-3 business days for processing. All attachments are required for every firm involved in a multi-consultant team. Upload these files as instructed in Bid Express.
- 6. The outline in Table 2 below describes the expected proposal organization, content sections, and limits on number of pages.
 - a. Each team is limited to a single, one-page cover letter.
 - b. Each team is limited to two pages per project in which they express interest. In these pages, consultants shall:
 - i. Describe the approach they plan to execute to deliver success on the project.
 - ii. Present the relevant qualifications and experience of the people they are proposing will provide the services.
 - iii. Provide the firm's familiarity with KDOT and the project area.
 - c. Finally, consultants are limited to a single, on-page descriptions of general qualifications ("Past Performance" selection plus "Approach to Quality Control" section) regardless of the number of projects in which they are expressing interest.
- 7. Table 3 lists the evaluation criteria and associated weights which will be used to make a selection.
- 8. Although not anticipated at this time, KDOT reserves the right to interview for the requested services associated with any of the listed projects prior to making final selections.

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

Table 2: Proposal Content

Section	Description of Intent	Page Limit
Cover Letter		1 Page
Project Approach	Describe how your firm will meet the fluctuating inspection needs of the project.	
Qualifications and Experience	For key personnel to be assigned to the project provide names, qualifications, education, training, and expertise. Identify their area(s) of responsibility and percent of their time dedicated to the project. List work for which you do not have in-house capability and name the firm you propose to subcontract with.	2 Pages
Familiarity with KDOT and Project Area	Describe team's familiarity with KDOT's inspection processes and standards. Describe familiarity with the project area and any identified special site conditions.	
Past Performance Describe team's past performance with respect to ability to meet project schedules; quality of work; and ability to control costs on similar transportation projects, especially those performed for KDOT. Include three references and contact information.		1 Page total
Approach to Quality Control	Describe methods or procedures your firm will use to provide all services with professional quality and technical accuracy.	

Table 3: Evaluation Factors

Evaluation Factor	Weight
The quality and completeness of the response	10%
Availability to respond to the work	20%
Qualifications and experience of Project Manager and other key project team members proposed for services	20%
Past performance history for similar projects/services for KDOT	20%
Understanding of the project area	10%
Understanding of KDOT contract administration and closeout procedures	20%

Contract Terms and Conditions

A standard KDOT agreement for engineering and technical services will be used for professional services projects. The following special attachments will need to be provided by the selected consultant and all subconsultants with the signed work order following negotiations and will become attachments to the contract.

- Special Attachment No. 8 ("Tax Clearance Certificate")
- Special Attachment No. 10 ("Policy Regarding Sexual Harassment")
- Special Attachment No. 12 ("Certification of Company Not Currently Engaged in the Procurement or Obtainment of Certain Equipment, Services, or Systems")

Special Contract Conditions

Batch Request for Proposals

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

Questions

All questions regarding this Request for Proposals shall be submitted via Q&A section of bid form in Bid Express.

Questions can be submitted until September 18, 2025; answers will be provided to all prequalified consultants on September 25, 2025.

Calvin Reed Secretary Department of Transportation

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

State of Kansas

Legislative Administrative Services

Interim Committee Schedule

The Legislative Research Department gives notice that the following legislative committees plan to meet on the dates listed below based on current information and subject to change. Requests for accommodation to participate in committee meetings should be made at least two working days in advance of the meeting by contacting Legislative Administrative Services at 785-296-2391 or TTY 711, or email legserv@las.ks.gov.

September 8 through September 26, 2025

Date	Room	Time	Committee	Agenda
Sept. 8	112-N	10:00 a.m.	House Committee on Government Oversight	No Agenda Available.
Sept. 9	112-N	9:00 a.m.	Senate Committee on Government Efficiency	No Agenda Available.
Sept. 10	112-N	9:00 a.m.	Senate Committee on Government Efficiency	No Agenda Available.
Sept. 11	546-S	10:00 a.m.	Joint Committee on Legislative Post Audit Executive Subcommittee	No Agenda Available.
Sept. 16	546-S	8:00 a.m.	Joint Committee on Legislative Post Audit	https://www.kslpa.gov/wp-content/uploads/2025/08/Draft-LPAC-Agenda-9.16.2025.pdf
Sept. 17	112-N	10:00 a.m.	Special Committee on Taxation	No Agenda Available.
Sept. 18	112-N	9:00 a.m.	Special Committee on Taxation	No Agenda Available.
Sept. 22	346-S	8:00 a.m.	Special Committee on Federal and State Affairs	No Agenda Available.
Sept. 24	112-N	8:00 a.m.	Special Committee on Health and Social Services	No Agenda Available.
Sept. 25	112-N	8:00 a.m.	Special Committee on Health and Social Services	No Agenda Available.

Tom Day Director

Legislative Administrative Services

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

(Published in the Kansas Register September 11, 2025.)

City of Andover, Kansas

Summary Notice of Bond Sale \$12,850,000* General Obligation Bonds Series A, 2025

Details of the Sale

Subject to the terms and requirements of the Official Notice of Bond Sale, dated August 12, 2025, of the City of Andover, Kansas (the "City"), bids to purchase the City's General Obligation Bonds, Series A, 2025, (the "Bonds") will be received at the office of the City Clerk at City Hall, 1609 E. Central Ave., Andover, KS 67002, by telefacsimile at 316-733-4634, or electronically as described in the Official Notice of Bond Sale until 10:00 a.m. (Central Time) Tuesday, September 30, 2025 (the "Sale Date"). The bids will be considered by the governing body at its meeting at 7:00 p.m. (Central Time) on the Sale Date.

No oral or auction bids for the Bonds shall be considered, and no bids for less than 100 percent of the total principal amount of the Bonds and accrued interest to the date of delivery shall be considered.

Good Faith Deposit

Bidders must submit a good faith deposit in the form of a wire transfer or certified or cashier's check made payable to the order of the City, or a financial surety bond (if then available), in an amount equal to 2% of the principal amount of the Bonds.

Details of the Bonds

The Bonds will be dated October 30, 2025 and will be issued as registered bonds in denominations of \$5,000, or any integral multiple thereof. Interest on the Bonds is payable semiannually on April 1 and October 1 of each year, beginning April 1, 2026. Principal of the Bonds becomes due on October 1 in the years and amounts as shown below:

Maturity Schedule

	Matarity Soricaule
Principal Amount *	Maturity Date
\$180,000	2026
415,000	2027
435,000	2028
455,000	2029
485,000	2030
500,000	2031
520,000	2032
540,000	2033
565,000	2034
580,000	2035
605,000	2036
625,000	2037
655,000	2038

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

Maturity Schedule

Principal Amount *	Maturity Date
675,000	2039
705,000	2040
730,000	2041
765,000	2042
795,000	2043
835,000	2044
875,000	2045
910,000	2046

^{*}Amounts subject to change.

Payment of Principal and Interest

The Treasurer of the State of Kansas will serve as the Bond Registrar and Paying Agent for the Bonds.

Book-Entry Bonds

The Bonds will be issued and registered under a book-entry-only system administered by The Depository Trust Company, New York, New York ("DTC").

Delivery of the Bonds

The City will prepare the Bonds at its expense and will deliver the registered Bonds to DTC on or about October 30, 2025. Any bond printing costs will be paid by the City from the proceeds of the Bonds or other City funds.

Legal Opinion

The Bonds will be sold subject to the legal opinion of Spencer Fane LLP, Wichita, Kansas, Bond Counsel, whose fees will be paid by the City.

Financial Matters

The City's current assessed valuation for purposes of calculating statutory debt limitations is \$295,330,952. As of October 30, 2025, the City's total outstanding general obligation debt (including the Bonds), is \$128,180,000. The City's total indebtedness which is subject to debt limitation, as of October 30, 2025, is estimated to be \$55,880,763, which is 18.92% of the assessed valuation of the City.

Additional Information

For additional information contact the City Clerk at the address and telephone number shown below, or the Financial Advisor, Clayton Kelley, Piper Sandler & Co., 11635 Rosewood St., Leawood, KS 66211, telephone 913-345-3377.

City of Andover, Kansas Dana Engstrom, City Clerk City Hall 1609 E. Central Ave. Andover, KS 67002 316-733-1303 Fax: 316-733-4634

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

State of Kansas

Kansas Lottery

Temporary Administrative Regulations

Article 4.—INSTANT GAMES AND DRAWINGS

111-4-3547. 2025 Kansas State Fair second-chance drawing. (a) The Kansas lottery may conduct a second-chance drawing in conjunction with the Kansas State Fair event giving away five \$500 cash prizes. The drawing will be on September 18, 2025, and the winners will be announced on September 19, 2025.

- (b) To enter the drawing, a player shall purchase one or more Kansas lottery tickets with a total value of at least \$20 in a single transaction at the Kansas lottery's selling location at the Kansas State Fair. A player may purchase lottery products during the hours the Kansas lottery selling location at the Kansas State Fair is open to the public beginning September 5, 2025, through September 14, 2025. For each qualifying purchase, the player will be given an official entry form by the representative selling the ticket(s). A player shall complete the entry form in a legible manner and deposit the entry form into receptacles designated for the purpose of this drawing no later than 2:00 p.m. on September 14, 2025. Only one name shall appear on an eligible entry.
- (c) After the close of entries, the entry forms shall be transported by Kansas lottery security officials, or a security designee as appointed by the security person on duty, in a sealed container from the selling location at the Kansas State Fair to Kansas lottery headquarters and secured until the drawing occurs.
- (d) On the designated date, the drawing shall be conducted by a drawing official designated by the executive director of the Kansas lottery in accordance with the Kansas lottery's established drawing procedures.

Five entries shall be drawn. The person whose name appears on each valid entry drawn shall be the winner of a prize described in these rules. After five entries have been drawn and verified as valid, five more valid entries will be drawn, one at a time, which entries drawn will serve as alternate entries. The alternate entries will be marked in the order drawn, 1A, 2A, 3A, 4A, and 5A.

Each person who is selected as a prize winner in the drawing described above, will be sent an email with an electronic claim form attached, followed by the same documentation sent by U.S. mail. That winner must return his or her completed claim form, electronically, by U.S. mail, or hand-delivered to the Kansas lottery claims center, and the claim form must be received by the Kansas lottery within 10 business days following the date the winners are announced. If the prize winner cannot be located, is declared ineligible, or fails to return the completed claim form in the allotted time, the prize will be awarded to the first alternate winner drawn. In the event an alternate winner is awarded a prize, that alternate winner must return his or her completed claim form, electronically, by U.S. mail, or hand-delivered, and the claim form must be received by the Kansas lottery within 10 business days following the date the alternate winner was sent a claim form electronically or by U.S. mail or another alternate will be selected until all alternates, in the order drawn, are exhausted. The Kansas lottery is not responsible for electronic malfunction or player error.

- (e) There is no limit on the number of entries a person may make, but a person may only win one \$500 prize.
- (f) Eligible entrants in the 2025 Kansas State Fair second-chance drawing must be 18 years of age or older.
- (g) The Kansas lottery shall not be responsible for any lost, destroyed, mutilated, illegible, or altered entries into the Kansas State Fair drawing. Illegible or incomplete entries shall be discarded.
- (h) Rules applicable to this drawing are contained in K.A.R. 111-4-3547, K.A.R. 111-3-1 et seq., and K.A.R. 111-6-1 et seq. (Authorized by K.S.A. 2025 Supp. 74-8710 and K.S.A. 74-8748; implementing K.S.A. 2025 Supp. 74-8710;

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

effective, T-111-11-16-18, Aug. 8, 2018; amended, T-111-6-19-19, May 22, 2019; amended, T-111-7-22-21, July 14, 2021; amended, T-111-7-27-22, July 13, 2022; amended, T-111-8-1-23, July 12, 2023; amended, T-111-6-26-24, June 12, 2024; amended, T-111-8-22-25, July 9, 2025.)

111-4-3837. "Chillin" with my Gnomies" instant ticket lottery game number 466. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Chillin" with my Gnomies." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3837.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
05	FIV
06	SIX
07	SEV
08	EGT
09	NIN
11	ELVN
12	TWLV
13	THRN
14	FRTN
15	FIFTN
16	SIXTN
17	SEVTN
18	EGTN
19	NINTN
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
25	TWYFIV
26	TWYSIX
27	TWYSEV
28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

35	THRFIV
Symbol of a Christmas tree	WIN

Prize Symbols	Captions
FREE	TICKET
\$2.00	TWO\$
\$4.00	FOUR\$
10.00	TEN\$
20.00	TWENTY
50.00	FIFTY
\$200	TWO-HUN
\$500	FIVE-HUN
\$10000	10-THOU

- (c) For this game, a play/prize symbol shall appear in 34 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.
- (e) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.
- (f) "Chillin' with my Gnomies" is a key number match game with an instant win. The player will scratch the play area to reveal four "WINNING NUMBERS" and 15 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the prize shown below that number. If a player reveals a symbol of a Christmas tree, the player instantly wins \$20.
- (g) Each ticket in this game may win up to 15 times.
- (h) Approximately 1,200,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

	Winners Per		
	Prize	1,200,000	Prize Cost
\$2 (Free Ticket)	\$2	160,000	\$320,000
\$2	\$2	122,400	\$244,800
\$4	\$4	24,000	\$96,000
\$2 x 2	\$4	32,000	\$128,000
\$10	\$10	3,200	\$32,000
(\$4 x 2) + \$2	\$10	10,400	\$104,000
\$2 x 5	\$10	8,400	\$84,000
\$20	\$20	2,000	\$40,000

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

	Prize	Winners Per 1,200,000	Prize Cost
\$20 Instant Win	\$20	2,800	\$56,000
(\$4 × 2) + \$2 + \$10	\$20	2,000	\$40,000
\$2 x 10	\$20	1,600	\$32,000
\$4 x 5	\$20	1,600	\$32,000
\$50	\$50	720	\$36,000
(\$4 × 10) + (\$2 × 5)	\$50	720	\$36,000
\$20 Instant Win + \$20 + \$10	\$50	1,080	\$54,000
\$20 Instant Win + (\$10 x 3)	\$50	1,080	\$54,000
\$200	\$200	56	\$11,200
(\$50 x 3) + (\$10 x 5)	\$200	64	\$12,800
\$20 Instant Win + (\$20 x 4) + (\$50 x 2)	\$200	80	\$16,000
\$20 Instant Win + (\$20 x 4) + (\$10 x 10)	\$200	80	\$16,000
\$500	\$500	16	\$8,000
(\$200 x 2) + \$20 Instant Win + \$20 + \$10 + \$50	\$500	24	\$12,000
\$10,000	\$10,000	8	\$80,000
Players Loyalty Program	\$15,655		\$15,655
2nd Chance Drawing	\$5,000		\$5,000
	TOTAL	374,328	\$1,565,455

⁽j) The odds of winning a prize in this game are approximately one in 3.21. (Authorized by K.S.A. 2025 Supp. 74-8710; implementing K.S.A. 2025 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-22-25, July 9, 2025.)

111-4-3838. "Full of \$500s" instant ticket lottery game number 467. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Full of \$500s." The rules for this game are contained in K.A.R. 111-3-1 *et seq*. and 111-4-3838.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
01	ONE
02	TWO
03	THR
04	FOR
06	SIX
07	SEV
08	EGT
09	NIN
11	ELVN

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

12	TWLV
13	THRN
14	FRTN
15	FIFTN
16	SIXTN
17	SEVTN
18	EGTN
19	NINTN
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
25	TWYFIV
26	TWYSIX
27	TWYSEV
28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
35	THRFIV
36	THRSIX
37	THRSEV
38	THREGT
39	THRNIN
40	FORTY
41	FRYONE
42	FRYTWO
43	FRYTHR
44	FRYFOR
Symbol of 500	WIN500
Prize Symbols	Captions

TICKET

FREE

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

\$5.00	FIVE\$
10.00	TEN\$
20.00	TWENTY
50.00	FIFTY
\$100	ONE-HUN
\$500	FIVE-HUN

\$10 BONUS AREA:	Play Symbols	Captions
	Symbol of a Christmas tree	TREE
	Symbol of a stocking	STCKNG
	Symbol of a wreath	WREATH
	Symbol of a star	WIN\$10

\$20 BONUS AREA:	Play Symbols	Captions
	Symbol of an ornament	ORNMNT
	Symbol of holly	HOLLY
	Symbol of a Santa hat	HAT
	Symbol of a star	WIN\$20

\$50 BONUS AREA:	Play Symbols	Captions
	Symbol of a gingerbread man	GNGBRD
	Symbol of a present	GIFT
	Symbol of a candle	CANDLE
	Symbol of a star	WIN\$50

- (c) For this game, a play/prize symbol shall appear in 48 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.
- (e) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.
- (f) "Full of \$500s" is a key number match game with an instant win and three bonus areas. The player will scratch the play area to reveal five "WINNING NUMBERS" and 20 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the prize shown below that number. If a player reveals a symbol of 500, the player instantly wins \$500. The player will scratch the three bonus areas. If the player reveals a symbol of a star, the player wins the prize amount for that bonus area.
- (g) Each ticket in this game may win up to 23 times.
- (h) Approximately 750,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

(i) The expected number and value of instant prizes in this game shall be as follows:

	Bonus \$10	Bonus \$20	Bonus \$50	Prize	Winners Per 750,000	Prize Cost
\$5 FREE TICKET				\$5	75,000	\$375,000
\$5				\$5	50,000	\$250,000
\$10				\$10	20,000	\$200,000
	\$10			\$10	20,000	\$200,000
\$5 + \$5				\$10	20,000	\$200,000
\$20				\$20	3,000	\$60,000
		\$20		\$20	4,000	\$80,000
\$10 + (\$5 x 2)				\$20	3,000	\$60,000
\$5 x 4				\$20	3,000	\$60,000
\$10	\$10			\$20	3,000	\$60,000
\$50				\$50	800	\$40,000
			\$50	\$50	800	\$40,000
\$20	\$10	\$20		\$50	800	\$40,000
\$5 x 6		\$20		\$50	800	\$40,000
\$10 x 4	\$10			\$50	800	\$40,000
\$100				\$100	250	\$25,000
\$5 x 14	\$10	\$20		\$100	250	\$25,000
\$20 x 4		\$20		\$100	250	\$25,000
\$50			\$50	\$100	250	\$25,000
\$500				\$500	150	\$75,000
\$500 (INSTANT WIN)				\$500	800	\$400,000
(\$50 x 3) + (\$20 x 10) + (\$10 x 7)	\$10	\$20	\$50	\$500	250	\$125,000
(\$10 x 6) + (\$5 x 6) + (\$50 x 3) + (\$100 x 2)	\$10		\$50	\$500	200	\$100,000
Players Loyalty Program				\$24,850)	\$24,850
2nd Chance Draw				\$10,000)	\$10,000
				TOTAL	207,400	\$2,579,850

⁽j) The odds of winning a prize in this game are approximately one in 3.62. (Authorized by K.S.A. 2025 Supp. 74-8710; implementing K.S.A. 2025 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-22-25, July 9, 2025.)

(b) The "play and prize symbols" and "captions" for this game are as follows:

^{111-4-3839. &}quot;Peppermint Payout Multiplier" instant ticket lottery game number 468. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Peppermint Payout Multiplier." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3839.

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

Play Symbols	Captions
1	ONE
3	THR
4	FOR
6	SIX
7	SVN
8	EGT
9	NIN
11	ELEVN
12	TWELV
13	THRTN
14	FORTN
15	FIFTN
16	SIXTN
17	SVTN
18	EGHTN
19	NINTN
21	TWYON
22	TWYTW
23	TWYTH
24	TWYFR
25	TWYFV
26	TWYSX
27	TWYSV
28	TWYET
29	TWYNI
31	THYON
32	THYTW
33	THYTR
34	THYFR
35	THYFV
36	THYSX
37	THYSV
38	THYET
39	THYNI
40	FORTY

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

41	FRYON
42	FRYTW
43	FRYTR
44	FRYFR
45	FRYFV
46	FRYSX
47	FRYSV
48	FRYET
49	FRYNI
Symbol of a gingerbread man	WIN
Symbol of a 2X	WIN2X
Symbol of a 5X	WIN5X
Symbol of a 10X	WIN10X
SWEET BONUS SYMBOLS:	
Symbol of a scarf	SCARF
Symbol of bells	BELLS
Symbol of Christmas lights	LITES
Symbol of holly	HOLLY
Symbol of a mink coat	MINK
Symbol of a shovel	SHOVEL
Symbol of a snowman	SNOWMAN
Symbol of a stocking	SOCK
Symbol of a penguin	PENGUIN
Symbol of a peppermint candy	WIN

Sweet Bonus Prize Symbols & Prize Symbols

\$10.00	TEN\$
\$20.00	TWENTY
\$50.00	FIFTY
\$100	ONEHUN
\$200	TWOHUN
\$500	FIVHUN

Captions

Captions

Additional Prize Symbols

FREE TICKET

Volume 44 - Issue 37 - September 11, 2025

\$5.00	FIVE\$
\$30.00	THIRTY
\$1,000	ONETHO
\$10,000	10-THOU
\$75,000	75-THOU

- (c) For this game, a play/prize symbol shall appear in 60 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 029.
- (e) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.
- (f) "Peppermint Payout Multiplier" is a key number match game with an instant win, multiplier features and two sweet bonus spots. The player will scratch the play area to reveal six "WINNING NUMBERS" and 25 "YOUR NUMBERS" with a prize amount shown below each of the "YOUR NUMBERS." If the player matches any "YOUR NUMBER" to any of the "WINNING NUMBERS," the player wins the prize amount shown below that number. If a player reveals a symbol of a gingerbread man, the player automatically wins the amount shown below that symbol. If a player reveals a symbol of a 2X, the player wins double the prize amount shown below that symbol. If a player reveals a symbol of a 5X, the player wins five times the prize amount shown below that symbol. If a player reveals a symbol of a 10X, the player wins 10 times the prize amount shown below that symbol. The player will also scratch the two sweet bonus spots. If the player reveals a symbol of a peppermint candy in either sweet bonus spot, the player wins the amount shown in that sweet bonus spot.
- (g) Each ticket in this game may win up to 27 times.
- (h) Approximately 420,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

	Winners Per	
Prize	420,000	Prize Cost
Free Ticket	28,000	\$280,000.00
\$10	28,000	\$280,000.00
\$10	14,000	\$140,000.00
\$10	28,000	\$280,000.00
\$20	14,000	\$280,000.00
\$20	14,000	\$280,000.00
\$20	14,000	\$280,000.00
\$30	1,351	\$40,530.00
\$30	1,351	\$40,530.00
\$30	1,603	\$48,090.00
\$30	1,603	\$48,090.00
\$30	1,400	\$42,000.00
	\$10 \$10 \$10 \$10 \$20 \$20 \$20 \$30 \$30 \$30 \$30	Prize 420,000 Free Ticket 28,000 \$10 28,000 \$10 14,000 \$10 28,000 \$20 14,000 \$20 14,000 \$20 14,000 \$30 1,351 \$30 1,351 \$30 1,603 \$30 1,603

Volume 44 - Issue 37 - September 11, 2025

	Prize	Winners Per 420,000	Prize Cost
\$20 + \$30	\$50	497	\$24,850.00
\$10 w/5X	\$50	854	\$42,700.00
\$5 w/10X	\$50	854	\$42,700.00
\$10 + \$20 BONUS x 2	\$50	854	\$42,700.00
\$50	\$50	497	\$24,850.00
\$5 x 20	\$100	245	\$24,500.00
\$10 w/5X + \$50 BONUS	\$100	497	\$49,700.00
\$10 w/10X	\$100	399	\$39,900.00
\$30 x 3 + \$10	\$100	301	\$30,100.00
\$100	\$100	175	\$17,500.00
\$50 x 2 + \$50 BONUS x 2	\$200	161	\$32,200.00
\$10 x 10 + \$100 BONUS	\$200	175	\$35,000.00
\$20 x 10	\$200	105	\$21,000.00
\$100 + \$50 BONUS x 2	\$200	168	\$33,600.00
\$200	\$200	105	\$21,000.00
\$10 x 15 + \$20 x 10 + \$50 BONUS + \$100 BONUS	\$500	35	\$17,500.00
\$100 w/5X	\$500	35	\$17,500.00
\$20 x 25	\$500	28	\$14,000.00
\$500	\$500	21	\$10,500.00
\$30 x 25 + \$50 BONUS + \$200 BONUS	\$1,000	7	\$7,000.00
\$200 w/5X	\$1,000	7	\$7,000.00
\$100 x 5 + \$500 BONUS	\$1,000	7	\$7,000.00
\$50 x 20	\$1,000	7	\$7,000.00
\$100 w/10X	\$1,000	7	\$7,000.00
\$1,000	\$1,000	7	\$7,000.00
\$1,000 w/10X	\$10,000	3	\$30,000.00
\$500 x 20	\$10,000	2	\$20,000.00
\$10,000	\$10,000	3	\$30,000.00
\$75,000	\$75,000	4	\$300,000.00
Player Loyalty Program			\$30,030.40
Second Chance Drawing			\$15,000.00
	Total:	153,368	\$3,048,070.40

⁽j) The odds of winning a prize in this game are approximately one in 2.74. (Authorized by K.S.A. 2025 Supp. 74-8710; implementing K.S.A. 2025 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-22-25, July 9, 2025.)

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

111-4-3840. "Merry Money Multiplier Bonus" instant ticket lottery game number 469. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Merry Money Multiplier Bonus." The rules for this game are contained in K.A.R. 111-3-1 et seg. and 111-4-3840.

(b) The "play and prize symbols" for this game are as follows:

Play Symbols

Yellow, Red, Blue and Green game symbols:

Symbol of a mug

Symbol of an ornament

Symbol of a star

Symbol of a present

Symbol of stocking

Symbol of a gingerbread man

Symbol of a mitten

Symbol of a bow

Symbol of a starburst

Symbol of a bell

Symbol of a Christmas tree

Symbol of a Santa hat

Symbol of a 2X

Symbol of a 5X

Bonus Prize Symbols & Prize Symbols

\$5.00

\$10.00

\$20.00

\$30.00

\$50.00

\$100.00

\$200.00

\$300.00

\$500.00

Additional Prize Symbols

\$40

\$1,000

\$10,000

\$100,000

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

- (c) For this game, a play/prize symbol shall appear in 56 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 014.
- (e) The price of instant tickets sold by a retailer for this game shall be \$20.00 each.
- (f) "Merry Money Multiplier Bonus" is a symbol match game with an instant win, multiplier features and four bonus areas. The player will scratch the 12 "GAMES" to reveal three play symbols and a prize symbol for each "GAME." Each "GAME" plays separately. If the player reveals three identical symbols in the same "GAME," the player wins the prize shown for that "GAME." If the player reveals two identical symbols and a "2X" symbol in the same "GAME," the player wins double the prize shown for that "GAME." If the player reveals two identical symbols and a "5X" symbol in the same "GAME," the player wins five times the prize shown for that "GAME." The player will scratch the four bonus play areas; if the player reveals two identical prize amounts, the player wins that amount. Each bonus area plays separately.
- (g) Each ticket in this game may win up to 16 times.
- (h) Approximately 300,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

			Winners Per	
Prize Description	Bonus	Prize	300,000	Prize Cost
\$20		\$20	40,000	\$800,000
\$30		\$30	4,000	\$120,000
\$10 x 2	\$10	\$30	10,600	\$318,000
\$5 (2X) + \$20		\$30	10,800	\$324,000
\$50		\$50	1,400	\$70,000
\$20 (2X)	\$10	\$50	4,000	\$200,000
\$10 x 5		\$50	3,000	\$150,000
\$5 x 8	\$10	\$50	6,400	\$320,000
\$100		\$100	250	\$25,000
\$10 (5X)	\$50	\$100	1,000	\$100,000
\$20 x 5		\$100	700	\$70,000
\$10 (5X)	(\$20 x 2) + \$10	\$100	1,600	\$160,000
(\$10 x 8) + \$20		\$100	2,000	\$200,000
(\$5 x 10) + \$10 (2X)	\$10 x 3	\$100	4,000	\$400,000
\$200		\$200	40	\$8,000
\$20 + \$30 + \$10 (5X)	\$100	\$200	200	\$40,000
\$10 (5X) + \$50 (2X)	\$50	\$200	220	\$44,000
(\$5 x 2) + (\$10 x 2) + (\$20 x 2) + \$30 + \$100		\$200	200	\$40,000
(\$10 x 10) + (\$30 x 2)	\$20 x 2	\$200	380	\$76,000

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

			Winners Per	
Prize Description	Bonus	Prize	300,000	Prize Cost
(\$5 x 10) + \$30 (2X) + \$40	(\$20 x 2) + (\$5 x 2)	\$200	540	\$108,000
\$300		\$300	40	\$12,000
\$100 (2X) + (\$50 x 2)		\$300	70	\$21,000
(\$10 x 4) + (\$50 x 2) + \$100	\$30 x 2	\$300	100	\$30,000
(\$5 x 10) + \$30 + \$10 (2X)	\$50 x 2	\$300	80	\$24,000
\$500		\$500	20	\$10,000
\$10 (2X) + \$30 + \$20 (5X) + \$300	\$50	\$500	20	\$10,000
(\$10 x 4) + \$30 (2X) + (\$50 x 2) + \$300		\$500	56	\$28,000
\$5 (2X) + (\$10 x 2) + (\$20 x 2) + \$30 + (\$50 x 2)	4	4		
+ \$200	\$100	\$500	120	\$60,000
\$10 (5X) + \$50 + (\$20 x 9) + \$30 (2X)	\$10 + (\$50 x 3)	\$500	80	\$40,000
\$1,000		\$1,000	2	\$2,000
\$300 + \$100 (5X)	\$200	\$1,000	2	\$2,000
(\$10 x 4) + \$30 (2X) + (\$50 x 2) + \$100 (5X)	\$300	\$1,000	2	\$2,000
(\$50 x 4) + (\$100 x 8)		\$1,000	6	\$6,000
\$10,000		\$10,000	2	\$20,000
\$100 (5X) + (\$1,000 x 9)	\$500	\$10,000	2	\$20,000
\$500 + \$300 (5X) + (\$1,000 x 6) + (\$200 x 4)	(\$100 x 2) + (\$500 x 2)	\$10,000	2	\$20,000
\$100,000		\$100,000	3	\$300,000
2ND CHANCE PRIZES				\$20,000
PLAYER LOYALTY PROGRAM				\$43,300
TOTAL PRIZES			91,937	\$4,243,300

⁽j) The odds of winning a prize in this game are approximately one in 3.26. (Authorized by K.S.A. 2025 Supp. 74-8710; implementing K.S.A. 2025 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-22-25, July 9, 2025.)

111-4-3841. "2026" instant ticket lottery game number 470. (a) The Kansas lottery may conduct an instant winner lottery game entitled "2026." The rules for this game are contained in K.A.R. 111-3-1 *et seq*. and 111-4-3841.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
06	SIX
07	SEV
08	EGT
09	NIN
11	ELVN
12	TWLV
13	THRN

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

14	FRTN
15	FIFTN
17	SEVTN
18	EGTN
19	NINTN
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
25	TWYFIV
27	TWYSEV
28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
35	THRFIV
36	THRSIX
37	THRSEV
38	THREGT
39	THRNIN
40	FORTY
41	FRYONE
42	FRYTWO
43	FRYTHR
44	FRYFOR
45	FRYFIV
46	FRYSIX
2X	2TIMES
5X	5TIMES
10X	10TIMES
Symbol of a star	WIN

Captions

Prize Symbols

Volume 44 - Issue 37 - September 11, 2025

TICKET
TEN\$
SIXTEEN
TWENTY
TWEN-SIX
FIFTY
ONE-HUN
TWTHO26

\$10 Bonus Play Symbols	Captions
Symbol of a starburst with 2026 inside	WIN\$10
Symbol of a stack of cash	STKCSH
Symbol of a flower	FLOWER
Symbol of a clover	CLOVER

\$20 Bonus Play Symbols	Captions
Symbol of a starburst with 2026 inside	WIN\$20
Symbol of a piggy bank	BANK
Symbol of a purse	PURSE
Symbol of a treasure chest	TRCHST

\$50 Bonus Play Symbols	Captions
Symbol of a starburst with 2026 inside	WIN\$50
Symbol of a horseshoe	HRSHOE
Symbol of a diamond	DIAMND
Symbol of a crown	CROWN

\$100 Bonus Play Symbols	Captions
Symbol of a starburst with 2026 inside	WIN\$100
Symbol of a vase	VASE
Symbol of the wallet	WALLET
Symbol of a vault	VAULT

- (c) For this game, a play/prize symbol shall appear in 62 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 029.
- (e) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

(f) "2026" is a key number match game with an instant win, multiplier features and four bonus symbol match areas. The player will scratch the play area to reveal eight "WINNING NUMBERS" and 25 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the prize shown below that number. If a player reveals a symbol of a star, the player instantly wins the prize amount shown below that symbol. If a player reveals a symbol of a 2X, the player wins two times the prize amount shown below that symbol. If a player reveals a symbol of a 5X, the player wins five times the prize amount shown below that symbol. If a player reveals a symbol of a 10X, the player wins 10 times the prize amount shown below that symbol. The player will scratch the four bonus play areas; if the player reveals a symbol of a starburst with 2026 inside, the player wins the prize corresponding with that bonus area.

- (g) Each ticket in this game may win up to 29 times.
- (h) Approximately 420,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 210,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

	Bonus \$10	Bonus \$20	Bonus \$50	Bonus \$100	Prize	Winners Per 420,000	Prize Cost
Free Ticket					\$10	20,600	\$206,000
	\$10				\$10	22,120	\$221,200
\$16					\$16	26,000	\$416,000
\$20					\$20	10,000	\$200,000
		\$20			\$20	10,000	\$200,000
\$10(2X)					\$20	10,000	\$200,000
\$26					\$26	6,000	\$156,000
\$16	\$10				\$26	6,200	\$161,200
\$50					\$50	300	\$15,000
			\$50		\$50	300	\$15,000
\$20(2X)	\$10				\$50	580	\$29,000
\$10(5X)					\$50	580	\$29,000
\$10 + \$20(2X)					\$50	580	\$29,000
\$100					\$100	100	\$10,000
				\$100	\$100	100	\$10,000
\$50			\$50		\$100	160	\$16,000
\$20(5X)					\$100	180	\$18,000
\$10(2X) + (\$10 x 5)	\$10	\$20			\$100	100	\$10,000
\$10(10X)					\$100	170	\$17,000
(\$16 x 3) + \$10 + \$16(5X) + \$26(2X) + \$26	\$10				\$226	80	\$18,080
\$10(10X) + \$26				\$100	\$226	80	\$18,080

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

	Bonus \$10	Bonus \$20	Bonus \$50	Bonus \$100	Prize	Winners Per 420,000	Prize Cost
\$20(5X) + \$20 + \$26	\$10	\$20	\$50		\$226	80	\$18,080
(\$10 x 15) + \$26			\$50		\$226	80	\$18,080
\$2026					\$2,026	150	\$303,900
\$26(5X) + (\$10 x 2) + (\$50 x 10) + (\$100 x 9) + \$100(2X) + \$16(5X) + \$16	\$10	\$20	\$50	\$100	\$2,026	150	\$303,900
(\$100(5X) x 2) + \$50(5X) + \$10(10X) + (\$26 x 11) + \$20(10X) + \$20		\$20	\$50	\$100	\$2,026	150	\$303,900
Players Loyalty Program					\$27,500		\$27,500
					TOTAL	114,840	\$2,969,920

⁽j) The odds of winning a prize in this game are approximately one in 3.66. (Authorized by K.S.A. 2025 Supp. 74-8710; implementing K.S.A. 2025 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-22-25, July 9, 2025.)

Article 15.—RAFFLE GAMES

111-15-1. Name of the game; rules and regulations. The Kansas lottery may conduct a lotto game entitled "Holiday Millionaire Raffle" beginning at 4:00 a.m. September 1, 2025, for a drawing to be conducted on January 4, 2026.

The rules and regulations for the "Holiday Millionaire Raffle" game are contained in K.A.R. 111-15-1 through 111-15-11 and K.A.R. 111-15-21, and applicable generic rules are contained in K.A.R. 111-6-1 *et seq*. (Authorized by and implementing K.S.A. 2025 Supp. 74-8710; effective, T-111-10-8-09, Sept. 9, 2009; amended, T-111-12-7-10, Sept. 8, 2010; amended, T-111-10-12-11, Sept. 14, 2011; amended, T-111-10-18-12, Sept. 12, 2012; amended, T-111-11-6-13, Sept. 11, 2013; amended, T-111-9-4-14, Aug. 13, 2014; amended, T-111-9-14-15, Aug. 12, 2015; amended, T-111-9-9-16, Aug. 10, 2016; amended, T-111-8-28-17, July 12, 2017; amended, T-111-16-18, Aug. 8, 2018; amended, T-111-6-19-19, May 22, 2019; amended, T-111-8-6-20, June 3, 2020; amended, T-111-6-23-21, June 9, 2021; amended, T-111-7-27-22, July 13, 2022; amended, T-111-6-28-23, June 14, 2023; amended, T-111-6-26-24, June 12, 2024; amended, T-111-8-22-25, July 9, 2025.)

111-15-3. Game description; retail sale of tickets. (a) "Holiday Millionaire Raffle" is a raffle drawing which offers a total of 150,000 online tickets available for sale. Each ticket shall bear a ticket number on the face of the ticket. The Kansas lottery will conduct three "Holiday Millionaire Raffle Early Bird Drawings" according to the following schedule, unless delayed by reasons determined by the executive director to be beyond the reasonable control of the Kansas lottery:

Early Bird	Purchase Deadline	Purchase Deadline					
Drawing Number	6:59 p.m. on:	Drawing Date					
Early Bird 1	Sunday, October 5, 2025	Sunday, October 5, 2025					
Early Bird 2	Sunday, November 16, 2025	Sunday, November 16, 2025					
Early Bird 3	Sunday, December 7, 2025	Sunday, December 7, 2025					

For each Early Bird drawing, one ticket number will be drawn to determine the winner of an Early Bird drawing

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

prize. A ticket must be purchased by 6:59 p.m. the day of the Early Bird drawing to be eligible for that drawing. In the event a ticket wins a prize in an Early Bird drawing, the ticket will remain eligible for any remaining drawings, including the final drawing held on January 4, 2026. For the final drawing an electronic drawing machine shall randomly select a total of 5,645 winning numbers. A player wins by exactly matching his or her ticket number to a winning number that was selected in the drawing. The first winning number selected during the drawing process shall be the grand prize winner. The second winning number selected during the drawing process shall be the second prize winner. The third winning number selected during the drawing process shall be the third prize winner. The next two winning numbers selected during the drawing process, which shall be drawn in the order of the fourth winning number and fifth winning number, shall be the fourth prize winners. The next 10 winning numbers selected during the drawing process, which shall be drawn in the order of the sixth winning number through the 15th winning number, shall be the fifth prize winners, and the next 30 winning numbers selected during the drawing process, which shall be drawn in the order of the 16th winning number through the 45th winning number, shall be the sixth prize winners. The next 800 winning numbers selected during the drawing process, which shall be drawn in the order of the 46th winning number through the 845th winning number, shall be the seventh prize winners. The next 4,800 winning numbers selected during the drawing process, which shall be drawn in the order of the 846th winning number through the 5,645th winning number, shall be the eighth prize winners. To play the "Holiday Millionaire Raffle," a player shall purchase a "Holiday Millionaire Raffle" ticket which bears a ticket number on the face of the ticket.

- (b) A "Holiday Millionaire Raffle" ticket shall sell for \$20.
- (c) Tickets shall not be sold to any person under the age of 18 years. Each retailer may require a person purchasing tickets to produce proof of age.
- (d) Each ticket shall be purchased from a terminal operated by a retailer.
- (e) All tickets sold by a retailer shall be a "computer pick" or "quick pick" ticket.
- (f) A validated ticket shall be the only proof of a game play. The only method of claiming a prize or prizes shall be the submission of the original winning ticket to and receipt of said ticket by the lottery or its authorized agent.
- (g) The only guaranteed methods of checking a ticket to determine whether the ticket bears a winning number shall be through the Kansas lottery ticket checker machines, or submission of a ticket to the Kansas lottery or an authorized retail agent.
- (h) A ticket shall not be voided or cancelled by returning the ticket to the selling retailer, including tickets that are printed in error. Exchange tickets shall be printed by the lottery for Early Bird drawing winners.
- (i) Ticket sales will begin at 4:00 a.m. central time on September 1, 2025.
- (j) Ticket sales will end at 6:59 p.m. central time on January 4, 2026, or whenever all tickets that are available for sale are sold, whichever comes first.
- (k) The game will officially close at 6:59 p.m. on January 4, 2026, or whenever the 150,000th ticket is sold, whichever occurs first.
- (I) After the drawing official has verified the game is closed, the final drawing shall be conducted at a secure location under conditions and procedures promulgated by the executive director of the lottery.
- (m) Each player shall have the sole responsibility for verifying the accuracy and condition of the data printed on the ticket. The purchase of a ticket is done at the player's own risk through the online retailer who is deemed to be acting on behalf of the player in entering the play or plays.

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

- (n) For any reason or under any circumstance, the liability of the Kansas lottery or its agents shall be strictly limited to a refund of the amount of the ticket purchase price.
- (o) Winning ticket numbers shall be made available to the public on or about noon, January 5, 2026. (Authorized by K.S.A. 2025 Supp. 74-8710; implementing K.S.A. 2025 Supp. 74-8710 and K.S.A. 74-8718; effective, T-111-10-8-09, Sept. 9, 2009; amended, T-111-12-7-10, Sept. 8, 2010; amended, T-111-12-29-10, Dec. 9, 2010; amended, T-111-10-12-11, Sept. 14, 2011; amended, T-111-10-18-12, Sept. 12, 2012; amended, T-111-11-6-13, Sept. 11, 2013; amended, T-111-9-4-14, Aug. 13, 2014; amended, T-111-9-14-15, Aug. 12, 2015; amended, T-111-9-9-16, Aug. 10, 2016; amended, T-111-8-28-17, July 12, 2017; amended, T-111-16-18, Aug. 8, 2018; amended, T-111-6-19-19, May 22, 2019; amended, T-111-8-6-20, June 3, 2020; amended, T-111-6-23-21, June 9, 2021; amended, T-111-7-27-22, July 13, 2022; amended, T-111-6-28-23, June 14, 2023; amended, T-111-6-26-24, June 12, 2024; amended, T-111-8-22-25, July 9, 2025.)

Article 19.—SPECIFIC PLAYER LOYALTY CLUB RULES

- **111-19-212. Winter Cash Bonus Drawings.** (a) The Kansas Lottery may conduct promotional drawings for each of the five instant ticket games listed in subsection (b) entitled "Winter Cash Bonus Drawings" awarding cash prizes to players selected as winners. Entries into each drawing will be accepted beginning at 12:01 a.m. on the day the instant ticket associated with the drawing is first offered for sale to the general public and ending at 11:59 p.m. on February 1, 2026. The drawings will be conducted sometime after entry into the drawings has closed but before noon on February 5, 2026, at which time the winners will be announced.
- (b) The specific tickets eligible for entry into these drawings shall be the following Kansas Lottery instant ticket games: \$1 "Happy Holidays" game number 465; \$2 "Chillin' With My Gnomies" game number 466; \$5 "Full of \$500s" game number 467; \$10 "Peppermint Payout Multiplier" game number 468; and \$20 "Merry Money Multiplier Bonus" game number 469.
- (c) A player shall enter the drawings through the Kansas Lottery PlayOn program available at www.kslottery. com. The player shall follow the hyperlink specifically designated for the purpose of accessing the "Winter Cash Bonus Drawings" promotion. The player may enter the required data from the entry ticket manually for entry into the drawings. If the player does not enter the ticket data manually, the player may scan, if available, the ticket to enter data to be used for entry into the drawings using a mobile device and a downloaded Kansas Lottery PlayOn app. After the ticket data is successfully entered either manually or scanned using the app, the player will receive one entry into the drawings based on the specific ticket.
- (d) The procedures set forth in K.A.R. 111-18-5 for selecting winners and alternate winners shall be followed. The first entrant selected in each drawing shall be the winner of a cash prize.
- (1) The first drawing conducted shall be from among the entrants in the \$1 Happy Holidays, game number 465, drawing. The cash prize awarded to the first entrant selected in the first drawing shall be \$1,000.
- (2) The second drawing conducted shall be from among the entrants in the \$2 Chillin' With My Gnomies, game number 466, drawing. The cash prize awarded to the first entrant selected in the second drawing shall be \$5,000.
- (3) The third drawing conducted shall be from among the entrants in the \$5 Full of \$500s, game number 467, drawing. The cash prize awarded to the first entrant selected in the third drawing shall be \$10,000.
- (4) The fourth drawing conducted shall be from among the entrants in the \$10 Peppermint Payout Multiplier, game number 468, drawing. The cash prize awarded to the first entrant selected in the fourth drawing shall be \$15,000.

Volume 44 - Issue 37 - September 11, 2025

- (5) The fifth drawing conducted shall be from among the entrants in the \$20 Merry Money Multiplier Bonus, game number 469, drawing. The cash prize awarded to the first entrant selected in the fifth drawing shall be \$20,000.
- (e) There is no limit on the number of tickets a player may enter. A player may win more than one drawing.
- (f) The procedures set forth in K.A.R. 111-18-5 for contacting a winner and the claiming of the prize shall be followed. The Kansas Lottery is not responsible for electronic malfunction or player error.
- (g) By entering the promotion, entrant agrees to PlayOn terms and conditions.
- (h) Winners are responsible for any state and federal taxes.
- (i) Rules applicable to this promotion are contained in K.A.R. 111-19-212 and K.A.R. 111-18-1 *et seq.* (Authorized by K.S.A. 2025 Supp. 74-8710; implementing K.S.A. 2025 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-22-25, July 9, 2025.)
- **111-19-213. Deck Your Wallet Drawing**. (a) The Kansas lottery may conduct a drawing entitled "Deck Your Wallet" awarding 12 winners a cash prize of \$1,000 each. Entries into the drawing will be accepted beginning at 12:01 a.m. on September 8, 2025, and ending at 11:59 p.m. on November 16, 2025. The drawing will be conducted sometime after entry into the drawing has closed but before noon on November 20, 2025, at which time the winners will be announced.
- (b) Only registered Kansas Lottery PlayOn members may enter the drawing. PlayOn members must enter themselves into the drawing according to the terms and conditions of PlayOn. Entries shall not be accepted that are submitted by any method other than through PlayOn.
- (c) A total of 2,000 player loyalty club points are required for a PlayOn member to enter once in the drawing. A player may enter the drawing as many times as the player's points allow but may only win once in this drawing.
- (d) The procedures set forth in K.A.R. 111-18-5 for selecting winners and alternate winners shall be followed.
- (e) The procedures set forth in K.A.R. 111-18-5 for contacting winners and the claiming of prizes shall be followed. The Kansas lottery is not responsible for electronic malfunction or player error.
- (f) By entering the drawing, entrant agrees to PlayOn terms and conditions.
- (g) Winners are responsible for state and federal taxes.
- (h) Rules applicable to this online event drawing are contained in K.A.R. 111-19-213 and K.A.R. 111-18-1 *et seq.* (Authorized by K.S.A. 2025 Supp. 74-8710; implementing K.S.A. 2025 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-22-25, July 9, 2025.)
- **111-19-214. Kansas Basketball Experiences drawing.** (a) The Kansas lottery may conduct two "Kansas Basketball Experience" drawings entitled "Jayhawk Drawing 1" and "Jayhawk Drawing 2." The Kansas lottery will accept entries into the drawings beginning at 12:01 a.m. on September 22, 2025.
- (b) Only registered Kansas lottery PlayOn members may enter the drawing. PlayOn members must enter themselves into the drawing according to the terms and conditions of PlayOn. Entries shall not be accepted which are submitted by any method other than through PlayOn.
- (c) A total of 1,238 player loyalty club points are required for a PlayOn member to enter once in the drawing. A player may enter the drawing as many times as the player's points allow, but may win only one prize package in

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

each drawing.

- (d) The procedures set forth in K.A.R. 111-18-5 for selecting winners and alternate winners shall be followed.
- (e) For "Jayhawk Drawing 1," the Kansas lottery shall award 3 prize packages. Entries into the drawing will close at 11:59 p.m. on October 12, 2025. The drawing will be conducted sometime after entry into the drawing has closed but before noon on October 16, 2025, at which time the winners will be announced.
- (1) The Kansas lottery shall award the first two winners drawn season tickets for two people in Section E, Row 4, and a parking pass for the 2025-26 Kansas University men's basketball season. Each prize package is valued at approximately \$6,190.14;
- (2) The next winner drawn will receive season tickets for two people in Section 14, Row 15, and a parking pass for the 2025-26 Kansas University men's basketball season. Each prize package is valued at approximately \$4,500.00.
- (f) For "Jayhawk Drawing 2," the Kansas lottery shall award one prize package. Entries into the drawing will close at 11:59 p.m. on January 11, 2026. The drawing will be conducted sometime after entry into the drawing has closed but before noon on January 15, 2026, at which time the winner will be announced.
- (1) The Kansas lottery shall award the winner drawn a flyaway trip experience to one Kansas University men's basketball away game in February 2026, or March 2026 as mutually agreed upon by Jayhawk Sports and approved by the Kansas lottery. The trip prize package shall include: commercial air transportation for two people on an airline and from an airport approved by the Kansas lottery; two nights' hotel accommodations to be determined by Jayhawk Sports and approved by the Kansas lottery; two game tickets; \$250 Uber gift card; \$1,000 visa gift card; two jerseys; and mandatory state and federal income withholding taxes paid by the Kansas lottery. Each prize package is valued at approximately \$5,347.88.
- (g) Any entry that is not selected in the first drawing or one that is selected as an alternate, but not awarded a prize, shall be automatically entered into and eligible to win a prize in the second drawing.
- (h) The procedures set forth in K.A.R. 111-18-5 for contacting winners and the claiming of prizes shall be followed. The Kansas lottery is not responsible for electronic malfunction or player error.
- (i) All winners and guests must comply with all applicable laws, and any terms, conditions, or restrictions applicable to any prize or portion of any prize, including but not limited to: airlines, hotels, concert or event venues, and all vouchers, certificates, or pre-paid gift cards. Lost, mutilated, or stolen tickets, vouchers, certificates, or pre-paid gift cards will not be replaced.
- (j) Prizes are not exchangeable for cash. The Kansas lottery retains the right to substitute an alternate prize of approximate equal value.
- (k) In the event the trip prize package awarded for this drawing is postponed, changed, or canceled in whole or in part, no cash prize substitutions shall be provided.
- (I) All winners and guests shall release the Kansas lottery from any liability for injuries sustained while redeeming any portion of the prize.
- (m) By entering the drawing, entrant agrees to PlayOn terms and conditions.
- (n) A player must have a smart phone to accept tickets and parking passes.
- (o) Rules applicable to this online event drawing are contained in K.A.R. 111-19-214 and K.A.R. 111-18-1 *et seq*. (Authorized by K.S.A. 2025 Supp. 74-8710; implementing K.S.A. 2025 Supp. 74-8710 and K.S.A. 74-8720; effective,

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

T-111-8-22-25, July 9, 2025.)

111-19-215. K-State Basketball Experiences drawing. (a) The Kansas lottery may conduct two "K-State Basketball Experiences" drawings entitled "K-State Basketball Experience Drawing 1" and "K-State Basketball Experience Drawing 2." The Kansas lottery will accept entries into the drawings beginning at 12:01 a.m. on September 22, 2025.

- (b) Only registered Kansas lottery PlayOn members may enter the drawing. PlayOn members must enter themselves into the drawing according to the terms and conditions of PlayOn. Entries shall not be accepted which are submitted by any method other than through PlayOn.
- (c) A total of 1,070 player loyalty club points are required for a PlayOn member to enter once in the drawing. A player may enter the drawing as many times as the player's points allow, but may win only one prize package in each drawing.
- (d) The procedures set forth in K.A.R. 111-18-5 for selecting winners and alternate winners shall be followed.
- (e) For "K-State Basketball Experience Drawing 1," the Kansas lottery shall award two prize packages. Entries into the drawing will close at 11:59 p.m. on October 12, 2025. The drawing will be conducted sometime after entry into the drawing has closed but before noon on October 16, 2025, at which time the winners will be announced.
- (1) Each prize package shall consist of season tickets for two people in Section 3 and a parking pass for the 2025-26 Kansas State University men's basketball season, with each prize package valued at approximately \$1,438.03;
- (f) For "K-State Basketball Experience Drawing 2," the Kansas lottery shall award one prize package. Entries into the drawing will close at 11:59 p.m. on January 11, 2026. The drawing will be conducted sometime after entry into the drawing has closed but before noon on January 15, 2026, at which time the winners will be announced.
- (1) The Kansas lottery shall award the winner drawn a flyaway trip experience to one Kansas State University men's basketball away game in February 2026, or March 2026 as mutually agreed upon by K-State Sports Properties and approved by the Kansas lottery. The trip prize package shall include: commercial air transportation for two people on an airline and from an airport approved by the Kansas lottery; two nights' hotel accommodations to be determined by K-State Sports Properties and approved by the Kansas lottery; two game tickets; \$250 Uber gift card; \$1,000 visa gift card; two jerseys; and mandatory state and federal income withholding taxes paid by the Kansas lottery. Each prize package is valued at approximately \$5,347.88.
- (g) Any entry that is not selected in the first drawing or one that is selected as an alternate, but not awarded a prize, shall be automatically entered into and eligible to win a prize in the second drawing.
- (h) The procedures set forth in K.A.R. 111-18-5 for contacting winners and the claiming of prizes shall be followed. The Kansas lottery is not responsible for electronic malfunction or player error.
- (i) All winners and guests must comply with all applicable laws, and any terms, conditions, or restrictions applicable to any prize or portion of any prize, including but not limited to: airlines, hotels, concert or event venues, and all vouchers, certificates, or pre-paid gift cards. Lost, mutilated, or stolen tickets, vouchers, certificates, or pre-paid gift cards will not be replaced.
- (j) Prizes are not exchangeable for cash. The Kansas lottery retains the right to substitute an alternate prize of approximate equal value.
- (k) In the event the trip prize package awarded for this drawing is postponed, changed, or canceled in whole or in part, no cash prize substitutions shall be provided.

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

- (I) All winners and guests shall release the Kansas lottery from any liability for injuries sustained while redeeming any portion of the prize.
- (m) By entering the drawing, entrant agrees to PlayOn terms and conditions.
- (n) A player must have a smart phone to accept tickets and parking passes.
- (o) Rules applicable to this online event drawing are contained in K.A.R. 111-19-215 and K.A.R. 111-18-1 *et seq.* (Authorized by K.S.A. 2025 Supp. 74-8710; implementing K.S.A. 2025 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-22-25, July 9, 2025.)

Article 23.—SPECIFIC eINSTANTS RULES

111-23-24. "Triton's Treasures" elnstant lottery game. (a) The Kansas lottery may conduct an elnstant lottery game entitled "Triton's Treasures." The rules for this game are contained in K.A.R. 111-22-1 et seq. and 111-23-24.

(b) The "play symbols" for this game are as follows:

Play Symbols

Two-digit numbers from the range of 01-99
Symbol of a Triton
Symbol of a Clam Shell
Symbol of a Number Swap
Symbol of a Repeater
Symbol of a Treasure Chest
Symbol of a Gold Coin
Symbol of an X Coin

Prize and bonus prize symbols shall be randomly assigned at the time of purchase and may appear in any combination that equals any prize described in paragraph (i).

- (c) For this game, five "Winning Numbers" and 20 "Your Numbers" shall appear on each game and shall remain dim until the game is purchased by the player as described in paragraph (f). Once the player purchases the game, purchased play areas may be highlighted with additional or brighter animations to assist in playing the game.
- (d) Each pool shall consist of 1,000,000 shares and consist of a single denomination as defined by the prices in paragraph (e).
- (e) The price for a share of this game shall be \$1.00, \$2.00, \$5.00, \$10.00, \$20.00, or \$30.00.
- (f) "Triton's Treasures" is a key number match game. The player may purchase a share of this lottery game by selecting a denomination defined in paragraph (e) and then pressing the "Play" icon. The player may reveal the play and prize symbols in the play area by manually clicking on each symbol, or by clicking on the "Reveal All" icon. If the player matches any play symbol in the "Winning Numbers" area to any play symbol in the "Your Numbers" play area, the player wins the prize below that number. If the player reveals the "Triton" symbol, it shall be replaced by either the "Clam" symbol, the "Number Swap" symbol, or the "Repeater" symbol. If the player reveals the "Clam" symbol, the player shall win the prize shown inside the clam instantly. If the player reveals the "Number Swap" symbol, all non-winning numbers in the play area will be replaced with new numbers, giving the player additional chances to win. If the player reveals the "Repeater" symbol, all of the non-winning numbers in that column will be replaced with winning numbers. If the player reveals three "Treasure Chest" symbols, the player will play a bonus game. In the bonus game, the player will click on any one of 16

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

treasure chests. If the treasure chest reveals a "Gold Coin" symbol, the player will advance the prize ladder. If the treasure chest reveals an "X Coin" symbol, one of three vases will break. The player will continue clicking treasure chests until they reach the end of the prize ladder or break all three vases. When the bonus game ends, the player will win total amount displayed in the prize ladder. Each bonus game will win a prize.

- (g) The total number of prizes and bonus prizes in any winning game may be variable but shall equal any prize described in paragraph (i).
- (h) This lottery game shall consist of approximately 6,000,000 shares, with each pool of approximately 1,000,000 shares defined by a single denomination. Additional orders shall have the same prize structure, the same number of prizes per prize pool of 1,000,000 shares, and the same odds as were contained in the initial order.
- (i) Each prize shall be calculated by multiplying the prize multiplier by the game denomination. The expected number and value of prizes in this game shall be as follows:

Denomination							
\$1.00	\$2.00	\$5.00	\$10.00	\$20.00	\$30.00	Number of	Odds to
		Prize A	mount			Prizes in Pool:	Win (1 in:)
\$5000.00	\$10,000.00	\$25,000.00	\$50,000.00	\$100,000.00	\$150,000.00	1	1,000,000.00
\$1000.00	\$2,000.00	\$5,000.00	\$10,000.00	\$20,000.00	\$30,000.00	3	333,333.33
\$500.00	\$1,000.00	\$2,500.00	\$5,000.00	\$10,000.00	\$15,000.00	8	125,000.00
\$250.00	\$500.00	\$1,250.00	\$2,500.00	\$5,000.00	\$7,500.00	23	43,478.26
\$100.00	\$200.00	\$500.00	\$1,000.00	\$2,000.00	\$3,000.00	26	38,461.54
\$80.00	\$160.00	\$400.00	\$800.00	\$1,600.00	\$2,400.00	5	200,000.00
\$75.00	\$150.00	\$375.00	\$750.00	\$1,500.00	\$2,250.00	10	100,000.00
\$70.00	\$140.00	\$350.00	\$700.00	\$1,400.00	\$2,100.00	5	200,000.00
\$65.00	\$130.00	\$325.00	\$650.00	\$1,300.00	\$1,950.00	10	100,000.00
\$60.00	\$120.00	\$300.00	\$600.00	\$1,200.00	\$1,800.00	40	25,000.00
\$55.00	\$110.00	\$275.00	\$550.00	\$1,100.00	\$1,650.00	90	11,111.11
\$50.00	\$100.00	\$250.00	\$500.00	\$1,000.00	\$1,500.00	115	8,695.65
\$48.00	\$96.00	\$240.00	\$480.00	\$960.00	\$1,440.00	30	33,333.33
\$47.00	\$94.00	\$235.00	\$470.00	\$940.00	\$1,410.00	27	37,037.04
\$46.00	\$92.00	\$230.00	\$460.00	\$920.00	\$1,380.00	50	20,000.00
\$45.00	\$90.00	\$225.00	\$450.00	\$900.00	\$1,350.00	110	9,090.91
\$43.00	\$86.00	\$215.00	\$430.00	\$860.00	\$1,290.00	75	13,333.33
\$42.00	\$84.00	\$210.00	\$420.00	\$840.00	\$1,260.00	107	9,345.79
\$41.00	\$82.00	\$205.00	\$410.00	\$820.00	\$1,230.00	95	10,526.32
\$40.00	\$80.00	\$200.00	\$400.00	\$800.00	\$1,200.00	175	5,714.29
\$39.00	\$78.00	\$195.00	\$390.00	\$780.00	\$1,170.00	17	58,823.53
\$38.00	\$76.00	\$190.00	\$380.00	\$760.00	\$1,140.00	37	27,027.03
\$37.00	\$74.00	\$185.00	\$370.00	\$740.00	\$1,110.00	68	14,705.88

Volume 44 - Issue 37 - September 11, 2025

		Denom					
\$1.00	\$2.00	\$5.00	\$10.00	\$20.00	\$30.00	Number of	Odds to
		Prize A	mount			Prizes in Pool:	Win (1 in:)
\$36.00	\$72.00	\$180.00	\$360.00	\$720.00	\$1,080.00	125	8,000.00
\$35.00	\$70.00	\$175.00	\$350.00	\$700.00	\$1,050.00	325	3,076.92
\$34.00	\$68.00	\$170.00	\$340.00	\$680.00	\$1,020.00	205	4,878.05
\$33.00	\$66.00	\$165.00	\$330.00	\$660.00	\$990.00	550	1,818.18
\$32.00	\$64.00	\$160.00	\$320.00	\$640.00	\$960.00	921	1,085.78
\$31.00	\$62.00	\$155.00	\$310.00	\$620.00	\$930.00	1255	796.81
\$30.50	\$61.00	\$152.50	\$305.00	\$610.00	\$915.00	320	3,125.00
\$30.00	\$60.00	\$150.00	\$300.00	\$600.00	\$900.00	925	1,081.08
\$29.00	\$58.00	\$145.00	\$290.00	\$580.00	\$870.00	155	6,451.61
\$28.00	\$56.00	\$140.00	\$280.00	\$560.00	\$840.00	304	3,289.47
\$27.00	\$54.00	\$135.00	\$270.00	\$540.00	\$810.00	909	1,100.11
\$26.00	\$52.00	\$130.00	\$260.00	\$520.00	\$780.00	1605	623.05
\$25.50	\$51.00	\$127.50	\$255.00	\$510.00	\$765.00	877	1,140.25
\$25.00	\$50.00	\$125.00	\$250.00	\$500.00	\$750.00	1720	581.40
\$24.00	\$48.00	\$120.00	\$240.00	\$480.00	\$720.00	207	4,830.92
\$23.00	\$46.00	\$115.00	\$230.00	\$460.00	\$690.00	560	1,785.71
\$22.00	\$44.00	\$110.00	\$220.00	\$440.00	\$660.00	880	1,136.36
\$21.00	\$42.00	\$105.00	\$210.00	\$420.00	\$630.00	996	1,004.02
\$20.50	\$41.00	\$102.50	\$205.00	\$410.00	\$615.00	630	1,587.30
\$20.00	\$40.00	\$100.00	\$200.00	\$400.00	\$600.00	1715	583.09
\$19.00	\$38.00	\$95.00	\$190.00	\$380.00	\$570.00	123	8,130.08
\$18.00	\$36.00	\$90.00	\$180.00	\$360.00	\$540.00	261	3,831.42
\$17.00	\$34.00	\$85.00	\$170.00	\$340.00	\$510.00	455	2,197.80
\$16.00	\$32.00	\$80.00	\$160.00	\$320.00	\$480.00	591	1,692.05
\$15.00	\$30.00	\$75.00	\$150.00	\$300.00	\$450.00	703	1,422.48
\$14.00	\$28.00	\$70.00	\$140.00	\$280.00	\$420.00	207	4,830.92
\$13.00	\$26.00	\$65.00	\$130.00	\$260.00	\$390.00	523	1,912.05
\$12.00	\$24.00	\$60.00	\$120.00	\$240.00	\$360.00	840	1,190.48
\$11.00	\$22.00	\$55.00	\$110.00	\$220.00	\$330.00	1045	956.94
\$10.50	\$21.00	\$52.50	\$105.00	\$210.00	\$315.00	670	1,492.54
\$10.00	\$20.00	\$50.00	\$100.00	\$200.00	\$300.00	4431	225.68
\$9.50	\$19.00	\$47.50	\$95.00	\$190.00	\$285.00	68	14,705.88
\$9.00	\$18.00	\$45.00	\$90.00	\$180.00	\$270.00	334	2,994.01

Volume 44 - Issue 37 - September 11, 2025

	Denom					
\$2.00	\$5.00	\$10.00	\$20.00	\$30.00	Number of	Odds to
	Prize A	mount			Prizes in Pool:	Win (1 in:)
\$17.00	\$42.50	\$85.00	\$170.00	\$255.00	171	5,847.95
\$16.00	\$40.00	\$80.00	\$160.00	\$240.00	732	1,366.12
\$15.00	\$37.50	\$75.00	\$150.00	\$225.00	332	3,012.05
\$14.00	\$35.00	\$70.00	\$140.00	\$210.00	1120	892.86
\$13.00	\$32.50	\$65.00	\$130.00	\$195.00	553	1,808.32
\$12.00	\$30.00	\$60.00	\$120.00	\$180.00	2256	443.26
\$11.00	\$27.50	\$55.00	\$110.00	\$165.00	1358	736.38
\$10.00	\$25.00	\$50.00	\$100.00	\$150.00	3750	266.67
\$9.00	\$22.50	\$45.00	\$90.00	\$135.00	570	1,754.39
\$8.00	\$20.00	\$40.00	\$80.00	\$120.00	1035	966.18
\$7.00	\$17.50	\$35.00	\$70.00	\$105.00	945	1,058.20
\$6.00	\$15.00	\$30.00	\$60.00	\$90.00	4369	228.89
\$5.00	\$12.50	\$25.00	\$50.00	\$75.00	5465	182.98
\$4.00	\$10.00	\$20.00	\$40.00	\$60.00	14576	68.61
\$3.00	\$7.50	\$15.00	\$30.00	\$45.00	13109	76.28
\$2.00	\$5.00	\$10.00	\$20.00	\$30.00	119251	8.39
\$1.00	\$2.50	\$5.00	\$10.00	\$15.00	55000	18.18
	\$17.00 \$16.00 \$15.00 \$14.00 \$13.00 \$12.00 \$10.00 \$9.00 \$8.00 \$7.00 \$6.00 \$5.00 \$4.00 \$3.00 \$2.00	\$2.00 \$5.00 Prize A \$17.00 \$42.50 \$16.00 \$40.00 \$15.00 \$37.50 \$14.00 \$35.00 \$13.00 \$32.50 \$12.00 \$30.00 \$11.00 \$27.50 \$10.00 \$25.00 \$9.00 \$22.50 \$8.00 \$20.00 \$7.00 \$17.50 \$6.00 \$15.00 \$5.00 \$12.50 \$4.00 \$10.00 \$3.00 \$7.50 \$5.00 \$5.00	\$17.00 \$42.50 \$85.00 \$16.00 \$40.00 \$80.00 \$15.00 \$37.50 \$75.00 \$14.00 \$35.00 \$70.00 \$13.00 \$32.50 \$65.00 \$12.00 \$30.00 \$60.00 \$11.00 \$27.50 \$55.00 \$10.00 \$25.00 \$50.00 \$9.00 \$22.50 \$45.00 \$8.00 \$20.00 \$40.00 \$7.00 \$17.50 \$35.00 \$6.00 \$15.00 \$30.00 \$4.00 \$10.00 \$25.00 \$5.00 \$12.50 \$10.00 \$5.00 \$10.00 \$20.00 \$5.00 \$10.00 \$20.00 \$5.00 \$10.00 \$20.00 \$5.00 \$10.00 \$10.00	\$2.00 \$5.00 \$10.00 \$20.00 Prize Amount \$17.00 \$42.50 \$85.00 \$170.00 \$16.00 \$40.00 \$80.00 \$160.00 \$15.00 \$37.50 \$75.00 \$150.00 \$14.00 \$35.00 \$70.00 \$140.00 \$13.00 \$32.50 \$65.00 \$130.00 \$12.00 \$30.00 \$60.00 \$120.00 \$11.00 \$27.50 \$55.00 \$110.00 \$10.00 \$25.00 \$50.00 \$100.00 \$9.00 \$22.50 \$45.00 \$90.00 \$8.00 \$17.50 \$35.00 \$70.00 \$6.00 \$17.50 \$35.00 \$70.00 \$6.00 \$15.00 \$30.00 \$60.00 \$5.00 \$15.00 \$30.00 \$60.00 \$5.00 \$15.00 \$30.00 \$60.00 \$5.00 \$15.00 \$30.00 \$60.00 \$5.00 \$15.00 \$30.00 \$60.00 \$5.00 \$15.00 \$30.00 \$60.00 \$5.00 \$10.00 \$20.00 \$40.00 \$50.00 \$10.00 \$20.00 \$40.00 \$50.00 \$10.00 \$20.00 \$40.00 \$50.00 \$10.00 \$20.00 \$40.00 \$50.00 \$10.00 \$20.00 \$40.00 \$50.00 \$10.00 \$20.00 \$40.00 \$50.00 \$10.00 \$20.00 \$40.00	\$2.00 \$5.00 \$10.00 \$20.00 \$30.00 Prize Amount \$17.00 \$42.50 \$85.00 \$170.00 \$255.00 \$16.00 \$40.00 \$80.00 \$160.00 \$240.00 \$15.00 \$37.50 \$75.00 \$150.00 \$225.00 \$14.00 \$35.00 \$70.00 \$140.00 \$210.00 \$13.00 \$32.50 \$65.00 \$130.00 \$195.00 \$112.00 \$30.00 \$60.00 \$120.00 \$180.00 \$11.00 \$27.50 \$55.00 \$110.00 \$165.00 \$10.00 \$22.50 \$45.00 \$90.00 \$135.00 \$8.00 \$20.00 \$40.00 \$80.00 \$120.00 \$7.00 \$17.50 \$35.00 \$70.00 \$100.00 \$150.00 \$7.00 \$17.50 \$35.00 \$70.00 \$100.00 \$100.00 \$7.00 \$17.50 \$35.00 \$70.00 \$100.00 \$7.00 \$17.50 \$35.00 \$70.00 \$100.00 \$7.00 \$17.50 \$35.00 \$70.00 \$100.00 \$7.00 \$17.50 \$35.00 \$70.00 \$100.00 \$3.00 \$70.00 \$100.00 \$100.00 \$3.00 \$100.00 \$20.00 \$40.00 \$60.00 \$3.00 \$100.00 \$20.00 \$40.00 \$60.00 \$3.00 \$70.00 \$10.00 \$20.00 \$40.00 \$60.00 \$3.00 \$70.00 \$10.00 \$20.00 \$40.00 \$60.00 \$3.00 \$70.00 \$10.00 \$20.00 \$40.00 \$60.00 \$3.00 \$70.00 \$10.00 \$20.00 \$40.00 \$60.00 \$3.00 \$70.00 \$10.00 \$20.00 \$40.00 \$60.00	\$2.00 \$5.00 \$10.00 \$20.00 \$30.00 Number of Prizes in Pool: \$17.00 \$42.50 \$85.00 \$170.00 \$255.00 171 \$16.00 \$40.00 \$80.00 \$160.00 \$240.00 732 \$15.00 \$37.50 \$75.00 \$150.00 \$225.00 332 \$14.00 \$35.00 \$70.00 \$140.00 \$210.00 1120 \$13.00 \$32.50 \$65.00 \$130.00 \$195.00 553 \$12.00 \$30.00 \$60.00 \$120.00 \$180.00 2256 \$11.00 \$27.50 \$55.00 \$110.00 \$165.00 1358 \$10.00 \$22.50 \$45.00 \$90.00 \$135.00 570 \$8.00 \$20.00 \$40.00 \$80.00 \$120.00 1035 \$7.00 \$17.50 \$35.00 \$70.00 \$105.00 945 \$6.00 \$15.00 \$30.00 \$60.00 \$70.00 \$105.00 945 \$6.00 \$15.00 \$30.00 \$60.00 \$105.00 \$105.00 945 \$6.00 \$15.00 \$30.00 \$60.00 \$105.00 \$105.00 945 \$6.00 \$15.00 \$30.00 \$60.00 \$105.00 \$105.00 945 \$6.00 \$17.50 \$35.00 \$50.00 \$105.00 \$105.00 945 \$6.00 \$17.50 \$35.00 \$50.00 \$105.00 \$105.00 945 \$6.00 \$10.00 \$20.00 \$40.00 \$60.00 \$105.00 \$14576 \$3.00 \$77.50 \$15.00 \$30.00 \$40.00 \$60.00 \$110.

⁽j) The odds of winning in any game shall be as follows:

	Shares per Pool	
Prize Multiplier	of 1,000,000	Odds (1 in:)
0	748846	1.34
5000	1	1,000,000.00
1000	3	333,333.33
500	8	125,000.00
250	23	43,478.26
100	26	38,461.54
80	5	200,000.00
75	10	100,000.00
70	5	200,000.00
65	10	100,000.00
60	40	25,000.00
55	90	11,111,11
50	115	8,695.65

Volume 44 - Issue 37 - September 11, 2025

Prize Multiplier	Shares per Pool of 1,000,000	Odds (1 in:)
48	30	33,333.33
47	27	37,037.04
46	50	20,000.00
45	110	9,090.91
43	75	13,333.33
42	107	9,345.79
41	95	10,526.32
40	175	5,714.29
39	17	58,823.53
38	37	27,027.03
37	68	14,705.88
36	125	8,000.00
35	325	3,076.92
34	205	4,878.05
33	550	1,818.18
32	921	1,085.78
31	1255	796.81
30.5	320	3,125.00
30	925	1,081.08
29	155	6,451.61
28	304	3,289.47
27	909	1,100.11
26	1605	623.05
25.5	877	1,140.25
25	1720	581.40
24	207	4,830.92
23	560	1,785.71
22	880	1,136.36
21	996	1,004.02
20.5	630	1,587.30
20	1715	583.09
19	123	8,130.08
18	261	3,831.42
17	455	2,197.80
16	591	1,692.05

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

	Shares per Pool	
Prize Multiplier	of 1,000,000	Odds (1 in:)
15	703	1,422.48
14	207	4,830.92
13	523	1,912.05
12	840	1,190.48
11	1045	956.94
10.5	670	1,492.54
10	4431	225.68
9.5	68	14,705.88
9	334	2,994.01
8.5	171	5,847.95
8	732	1,366.12
7.5	332	3,012.05
7	1120	892.86
6.5	553	1,808.32
6	2256	443.26
5.5	1358	736.38
5	3750	266.67
4.5	570	1,754.39
4	1035	966.18
3.5	945	1,058.20
3	4369	228.89
2.5	5465	182.98
2	14576	68.61
1.5	13109	76.28
1	119251	8.39
0.5	55000	18.18

The overall odds of winning a prize in this game are approximately one in 3.98. (Authorized by K.S.A. 2025 Supp. 74-8710; implementing K.S.A. 2025 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-8-22-25, July 9, 2025.)

111-23-25. "Cauldron Me Crazy" eInstant lottery game. (a) The Kansas lottery may conduct an eInstant lottery game entitled "Cauldron Me Crazy." The rules for this game are contained in K.A.R. 111-22-1 *et seq.* and 111-23-25.

(b) The "play symbols" for this game are as follows:

Play Symbols

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

Symbol of a Potion
Symbol of a Cauldron
Symbol of a 2X Multiplier Potion
Symbol of a 3X Multiplier Potion
Symbol of a 5X Multiplier Potion
Symbol of a Bonus Cauldron

Prize and bonus prize symbols shall be randomly assigned at the time of purchase and may appear in any combination that equals any prize described in paragraph (i).

- (c) For this game, there shall be three play spots in each play area. A player may purchase up to five play areas at a time, which shall all be of the same denomination. Each play area shall remain dim until selected or purchased by the player as described in paragraph (f).
- (d) Each pool shall consist of 1,000,000 shares and consist of a single denomination as defined by the prices in paragraph (e).
- (e) The price for a share of this game shall be \$1.00, \$2.00, \$3.00, \$5.00, or \$6.00, multiplied by the number of play areas purchased at the time of play.
- (f) "Cauldron Me Crazy" is a symbol reveal game with a bonus play feature. The player may purchase a share of this lottery game by selecting a denomination defined in paragraph (e) and then selecting between one and five play areas to play at the time of purchase. The player may purchase the game by pressing the "Play" icon. The player may reveal the play symbols in each purchased play area by manually clicking on each symbol, or by clicking on the "Reveal All" icon. If the player reveals two "Potion" symbols and a "Cauldron" symbol in a single play area, the player wins the prize shown in that cauldron. If any potion in a winning play area is a "Multiplier Potion," the prize will be multiplied by that multiplier. If the player reveals two "Potion" symbols and a "Bonus Cauldron," the player will play a bonus game. In the bonus game, the player will click on one of three eyeballs. Each eyeball will drop through a plinko-style maze and land in a cauldron with a prize amount displayed. One cauldron will also display the word "Collect." The player will click on the eyeballs until one lands in the "Collect" cauldron, at which time the bonus game ends. The player will win the total of the prizes displayed in the cauldrons into which an eyeball falls during the bonus game. Each bonus game will win at least one prize.
- (g) The total number of prizes and bonus prizes in any winning game may be variable but shall equal any prize described in paragraph (i).
- (h) This lottery game shall consist of approximately 25,000,000 shares, with each pool of approximately 1,000,000 shares defined by a single denomination and number of play areas. Additional orders shall have the same prize structure, the same number of prizes per prize pool of 1,000,000 shares, and the same odds as were contained in the initial order.
- (i) Each prize shall be calculated by multiplying the prize multiplier by the game denomination by the number of play areas purchased. The expected number and value of prizes in this game shall be as follows:

		Denomination				
\$1.00	\$2.00	\$3.00	\$5.00	\$6.00	Number of	Odds to Win
Prize A	mount (Multipli	ed by number o	f play areas purd	chased)	Prizes in Poo	l: (1 in:)
\$4,000.00	\$8,000.00	\$12,000.00	\$20,000.00	\$24,000.00	1	1,000,000.00
\$3,000.00	\$6,000.00	\$9,000.00	\$15,000.00	\$18,000.00	1	1,000,000.00
\$2,000.00	\$4,000.00	\$6,000.00	\$10,000.00	\$12,000.00	1	1,000,000.00

Volume 44 - Issue 37 - September 11, 2025

	ation

\$1.00	\$2.00	\$3.00	\$5.00	\$6.00	Number of	Odds to Win
Prize A	Amount (Multipli	ed by number o	f play areas purd	chased)	Prizes in Poo	: (1 in:)
\$1,000.00	\$2,000.00	\$3,000.00	\$5,000.00	\$6,000.00	1	1,000,000.00
\$500.00	\$1,000.00	\$1,500.00	\$2,500.00	\$3,000.00	5	200,000.00
\$450.00	\$900.00	\$1,350.00	\$2,250.00	\$2,700.00	2	500,000.00
\$400.00	\$800.00	\$1,200.00	\$2,000.00	\$2,400.00	5	200,000.00
\$350.00	\$700.00	\$1,050.00	\$1,750.00	\$2,100.00	2	500,000.00
\$300.00	\$600.00	\$900.00	\$1,500.00	\$1,800.00	5	200,000.00
\$275.00	\$550.00	\$825.00	\$1,375.00	\$1,650.00	2	500,000.00
\$250.00	\$500.00	\$750.00	\$1,250.00	\$1,500.00	5	200,000.00
\$200.00	\$400.00	\$600.00	\$1,000.00	\$1,200.00	5	200,000.00
\$175.00	\$350.00	\$525.00	\$875.00	\$1,050.00	10	100,000.00
\$150.00	\$300.00	\$450.00	\$750.00	\$900.00	10	100,000.00
\$125.00	\$250.00	\$375.00	\$625.00	\$750.00	10	100,000.00
\$100.00	\$200.00	\$300.00	\$500.00	\$600.00	25	40,000.00
\$90.00	\$180.00	\$270.00	\$450.00	\$540.00	75	13,333.33
\$80.00	\$160.00	\$240.00	\$400.00	\$480.00	75	13,333.33
\$75.00	\$150.00	\$225.00	\$375.00	\$450.00	75	13,333.33
\$70.00	\$140.00	\$210.00	\$350.00	\$420.00	25	40,000.00
\$65.00	\$130.00	\$195.00	\$325.00	\$390.00	25	40,000.00
\$60.00	\$120.00	\$180.00	\$300.00	\$360.00	25	40,000.00
\$55.00	\$110.00	\$165.00	\$275.00	\$330.00	25	40,000.00
\$50.00	\$100.00	\$150.00	\$250.00	\$300.00	25	40,000.00
\$45.00	\$90.00	\$135.00	\$225.00	\$270.00	500	2,000.00
\$40.00	\$80.00	\$120.00	\$200.00	\$240.00	500	2,000.00
\$35.00	\$70.00	\$105.00	\$175.00	\$210.00	100	10,000.00
\$30.00	\$60.00	\$90.00	\$150.00	\$180.00	400	2,500.00
\$25.00	\$50.00	\$75.00	\$125.00	\$150.00	750	1,333.33
\$20.00	\$40.00	\$60.00	\$100.00	\$120.00	1525	655.74
\$15.00	\$30.00	\$45.00	\$75.00	\$90.00	15000	66.67
\$10.00	\$20.00	\$30.00	\$50.00	\$60.00	5200	192.31
\$9.00	\$18.00	\$27.00	\$45.00	\$54.00	1000	1,000.00
\$8.00	\$16.00	\$24.00	\$40.00	\$48.00	1000	1,000.00
\$6.00	\$12.00	\$18.00	\$30.00	\$36.00	1000	1,000.00
\$5.00	\$10.00	\$15.00	\$25.00	\$30.00	5000	200.00

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

Denomination

\$1.00	\$2.00	\$3.00	\$5.00	\$6.00	Number of	Odds to Win
Prize A	mount (Multipli	ed by number o	f play areas purc	:hased)	Prizes in Pool:	(1 in:)
\$4.00	\$8.00	\$12.00	\$20.00	\$24.00	5000	200.00
\$3.00	\$6.00	\$9.00	\$15.00	\$18.00	25000	40.00
\$2.00	\$4.00	\$6.00	\$10.00	\$12.00	61000	16.39
\$1.00	\$2.00	\$3.00	\$5.00	\$6.00	150000	6.67
\$0.50	\$1.00	\$1.50	\$2.50	\$3.00	55000	18.18

⁽j) The odds of winning in any game shall be as follows:

Prize Multiplier	Shares per Pool of 1,000,000	Odds (1 in:)
0	671,585	1.49
4,000	1	1,000,000.00
3,000	1	1,000,000.00
2,000	1	1,000,000.00
1,000	1	1,000,000.00
500	5	200,000.00
450	2	500,000.00
400	5	200,000.00
350	2	500,000.00
300	5	200,000.00
275	2	500,000.00
250	5	200,000.00
200	5	200,000.00
175	10	100,000.00
150	10	100,000.00
125	10	100,000.00
100	25	40,000.00
90	75	13,333.33
80	75	13,333.33
75	75	13,333.33
70	25	40,000.00
65	25	40,000.00
60	25	40,000.00
55	25	40,000.00
50	25	40,000.00

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

	Shares per Pool	
Prize Multiplier	of 1,000,000	Odds (1 in:)
45	500	2,000.00
40	500	2,000.00
35	100	10,000.00
30	400	2,500.00
25	750	1,333.33
20	1,525	655.74
15	15,000	66.67
10	5,200	192.31
9	1,000	1,000.00
8	1,000	1,000.00
6	1,000	1,000.00
5	5,000	200.00
4	5,000	200.00
3	25,000	40.00
2	61,000	16.39
1	150,000	6.67
0.5	55,000	18.18

The overall odds of winning a prize in this game are approximately one in 3.04. (Authorized by K.S.A. 2025 Supp. 74-8710; implementing K.S.A. 2025 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-9-5-25, July 9, 2025.)

Stephen W. Durrell Executive Director Kansas Lottery

Doc. No. 053465

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

Index to Administrative Regulations

This index lists in numerical order the new, amended, and revoked administrative regulations with a future effective date and the Kansas Register issue in which the regulation can be found. A complete listing and the complete text of all currently effective regulations required to be published in the Kansas Administrative Regulations can be found at https://www.sos.ks.gov/publications/pubs_kar.aspx.

AGENCY 17: OFFICE OF THE STATE BANK COMMISSIONER

Reg. No.	Action	Register
17-24-4	Amended (T)	Vol. 44, Issue 27

AGENCY 26: DEPARTMENT FOR AGING AND DISABILITY SERVICES

Reg. No.	Action	Register
26-8-1	Amended	Vol. 44, Issue 36
26-8-7	Amended	Vol. 44, Issue 36

AGENCY 38: OFFICE OF THE STATE BANK COMMISSIONER - DIVISION OF BANKING

Reg. No.	Action	Register
38-1-1	Revoked	Vol. 44, Issue 36
38-1-2	Revoked	Vol. 44, Issue 36
38-1-3	Revoked	Vol. 44, Issue 36
38-1-4	Revoked	Vol. 44, Issue 36
38-1-5	Revoked	Vol. 44, Issue 36
38-2-1	Revoked	Vol. 44, Issue 36
38-2-2	Revoked	Vol. 44, Issue 36
38-2-3	Revoked	Vol. 44, Issue 36
38-2-4	Revoked	Vol. 44, Issue 36
38-2-5	Revoked	Vol. 44, Issue 36
38-2-6	Revoked	Vol. 44, Issue 36
38-2-7	Revoked	Vol. 44, Issue 36
38-3-1	Revoked	Vol. 44, Issue 36
38-3-2	Revoked	Vol. 44, Issue 36
38-3-3	Revoked	Vol. 44, Issue 36
38-4-1	Revoked	Vol. 44, Issue 36
38-5-1	Revoked	Vol. 44, Issue 36
38-8-1	Revoked	Vol. 44, Issue 36
38-9-1	Revoked	Vol. 44, Issue 36
38-10-1	Revoked	Vol. 44, Issue 36
38-10-2	Revoked	Vol. 44, Issue 36
38-10-3	Revoked	Vol. 44, Issue 36
38-10-4	Revoked	Vol. 44, Issue 36
38-10-5	Revoked	Vol. 44, Issue 36
38-10-6	Revoked	Vol. 44, Issue 36
38-10-7	Revoked	Vol. 44, Issue 36

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

AGENCY 75: OFFICE OF THE STATE BANK COMMISSIONER - CONSUMER AND MORTGAGE LENDING DIVISION

Reg. No. Action Register 75-6-35 Amended (T) Vol. 44, Issue 27

AGENCY 111: KANSAS LOTTERY

A complete index listing all regulations filed by the Kansas Lottery from 1988 through 2000 can be found in the Vol. 19, No. 52, December 28, 2000 Kansas Register. A list of regulations filed from 2001 through 2003 can be found in the Vol. 22, No. 52, December 25, 2003 Kansas Register. A list of regulations filed from 2004 through 2005 can be found in the Vol. 24, No. 52, December 29, 2005 Kansas Register. A list of regulations filed from 2006 through 2007 can be found in the Vol. 26, No. 52, December 27, 2007 Kansas Register. A list of regulations filed from 2008 through November 2009 can be found in the Vol. 28, No. 53, December 31, 2009 Kansas Register. A list of regulations filed from December 1, 2009, through December 21, 2011, can be found in the Vol. 30, No. 52, December 29, 2011 Kansas Register. A list of regulations filed from December 22, 2011, through November 6, 2013, can be found in the Vol. 32, No. 52, December 26, 2013 Kansas Register. A list of regulations filed from November 7, 2013, through December 31, 2015, can be found in the Vol. 34, No. 53, December 31, 2015 Kansas Register. A list of regulations filed from 2016 through 2017, can be found in the Vol. 36, No. 52, December 28, 2017 Kansas Register. A list of regulations filed from 2018 through 2019, can be found in the Vol. 38, No. 52, December 26, 2019 Kansas Register. A list of regulations filed from 2020 through 2021, can be found in the Vol. 40, No. 52, December 30, 2021 Kansas Register. A list of regulations filed from 2020 through 2023, can be found in the Vol. 40, No. 52, December 30, 2021 Kansas Register. A list of regulations filed from 2020 through 2023, can be found in the Vol. 42, No. 52, December 28, 2023 Kansas Register.

Reg. No.	Action	Register
111-2-331	New	Vol. 43, Issue 46
111-4-3547	Amended	Vol. 43, Issue 31
111-4-3771	New	Vol. 43, Issue 5
111-4-3772	New	Vol. 43, Issue 11
111-4-3773	New	Vol. 43, Issue 12
111-4-3774	New	Vol. 43, Issue 14
111-4-3775	New	Vol. 43, Issue 29
111-4-3776	New	Vol. 43, Issue 29
111-4-3777	New	Vol. 43, Issue 29
111-4-3778	New	Vol. 43, Issue 29
111-4-3779	New	Vol. 43, Issue 29
111-4-3780	New	Vol. 43, Issue 29
111-4-3781	New	Vol. 43, Issue 29
111-4-3782	New	Vol. 43, Issue 29
111-4-3783	New	Vol. 43, Issue 29
111-4-3784	New	Vol. 43, Issue 30
111-4-3785	New	Vol. 43, Issue 30
111-4-3786	New	Vol. 43, Issue 30
111-4-3787	New	Vol. 43, Issue 30
111-4-3788	New	Vol. 43, Issue 30
111-4-3789	New	Vol. 43, Issue 30
111-4-3790	New	Vol. 43, Issue 31
111-4-3791	New	Vol. 43, Issue 31
111-4-3792	New	Vol. 43, Issue 31
111-4-3793	New	Vol. 43, Issue 31
111-4-3794	New	Vol. 43, Issue 36

[©] Kansas Secretary of State 2025

Volume 44 - Issue 37 - September 11, 2025

111-4-3795	New	Vol. 43, Issue 36
111-4-3796	New	Vol. 43, Issue 36
111-4-3797	New	Vol. 43, Issue 36
111-4-3798	New	Vol. 43, Issue 36
111-4-3799	New	Vol. 43, Issue 36
111-4-3800	New	Vol. 43, Issue 36
111-4-3801	New	Vol. 43, Issue 36
111-4-3802	New	Vol. 43, Issue 36
111-4-3803	New	Vol. 43, Issue 36
111-4-3804	New	Vol. 43, Issue 36
111-4-3805	New	Vol. 43, Issue 36
111-4-3806	New	Vol. 43, Issue 36
111-4-3807	New	Vol. 43, Issue 36
111-4-3808	New	Vol. 43, Issue 45
111-4-3809	New	Vol. 43, Issue 45
111-4-3810	New	Vol. 43, Issue 45
111-4-3811	New	Vol. 43, Issue 46
111-4-3812	New	Vol. 43, Issue 46
111-4-3813	New	Vol. 43, Issue 46
111-4-3814	New	Vol. 43, Issue 46
111-4-3815	New	Vol. 43, Issue 46
111-4-3816	New	Vol. 43, Issue 46
111-4-3817	New	Vol. 43, Issue 46
111-4-3818	New	Vol. 43, Issue 46
111-4-3819	New	Vol. 44, Issue 3
111-4-3820	New	Vol. 44, Issue 3
111-4-3821	New	Vol. 44, Issue 7
111-4-3822	New	Vol. 44, Issue 12
111-4-3823	New	Vol. 44, Issue 12
111-4-3824	New	Vol. 44, Issue 12
111-4-3825	New	Vol. 44, Issue 19
111-4-3826	New	Vol. 44, Issue 19
111-4-3827	New	Vol. 44, Issue 19
111-4-3828	New	Vol. 44, Issue 19
111-4-3829	New	Vol. 44, Issue 19
111-4-3830	New	Vol. 44, Issue 19
111-4-3831	New	Vol. 44, Issue 22
111-4-3832	New	Vol. 44, Issue 29
111-4-3833	New	Vol. 44, Issue 29
111-4-3834	New	Vol. 44, Issue 29
111-4-3835	New	Vol. 44, Issue 29
111-4-3836	New	Vol. 44, Issue 31
111-5-23	Amended	Vol. 44, Issue 29
111-5-24	Amended	Vol. 43, Issue 46
111-5-26	Amended	Vol. 44, Issue 29
111-5-28	Amended	Vol. 43, Issue 46
111-5-30	Amended	Vol. 43, Issue 46
111-5-33a	New	Vol. 44, Issue 29
111-5-181	Amended	Vol. 44, Issue 31
111-5-182	Amended	Vol. 44, Issue 3

Volume 44 - Issue 37 - September 11, 2025

111-5-184	Amended	Vol. 44, Issue 3
111-5-185	Revoked	Vol. 44, Issue 3
111-5-200a	New	Vol. 44, Issue 29
111-5-250	New	Vol. 44, Issue 19
111-5-251	New	Vol. 44, Issue 31
111-9-233	New	Vol. 43, Issue 5
111-9-234	New	Vol. 43, Issue 14
		•
111-9-235	New	Vol. 43, Issue 45
111-9-236	New	Vol. 43, Issue 45
111-9-237	New	Vol. 43, Issue 45
111-15-1	Amended	Vol. 43, Issue 31
111-15-3	Amended	Vol. 43, Issue 31
111-18-2	Amended	Vol. 44, Issue 29
111-18-5	Amended	Vol. 43, Issue 12
111-19-1a	New	Vol. 44, Issue 29
111-19-2b	New	Vol. 44, Issue 29
111-19-3a	New	Vol. 44, Issue 29
111-19-169	New	Vol. 43, Issue 5
111-19-170	New	Vol. 43, Issue 12
111-19-171	New	Vol. 43, Issue 12
111-19-172	New	Vol. 43, Issue 12
111-19-173	New	Vol. 43, Issue 12
111-19-174	New	Vol. 43, Issue 14
111-19-175	New	Vol. 43, Issue 14
111-19-176	New	Vol. 43, Issue 14
111-19-177	New	Vol. 43, Issue 14 Vol. 43, Issue 29
		•
111-19-178	New	Vol. 43, Issue 29
111-19-179	New	Vol. 43, Issue 29
111-19-180	New	Vol. 43, Issue 29
111-19-181	New	Vol. 43, Issue 30
111-19-182	New	Vol. 43, Issue 30
111-19-183	New	Vol. 43, Issue 31
111-19-184	New	Vol. 43, Issue 36
111-19-185	New	Vol. 43, Issue 45
111-19-186	New	Vol. 43, Issue 45
111-19-187	New	Vol. 43, Issue 45
111-19-188	New	Vol. 43, Issue 45
111-19-189	Amended	Vol. 43, Issue 47
111-19-190	New	Vol. 43, Issue 45
111-19-191	New	Vol. 43, Issue 45
111-19-192	New	Vol. 43, Issue 46
111-19-193	New	Vol. 43, Issue 47
111-19-194	New	Vol. 43, Issue 47
111-19-195	New	Vol. 43, Issue 47
111-19-196	New	Vol. 44, Issue 3
111-19-197	New	Vol. 44, Issue 3
111-19-198	New	Vol. 44, Issue 3
111-19-199	New	Vol. 44, Issue 3
111-19-200	New	Vol. 44, Issue 7
111-19-201	New	Vol. 44, Issue 7
111 13 201	1 4 C V V	voi, 1330C /

Volume 44 - Issue 37 - September 11, 2025

111-19-202	New	Vol. 44, Issue 12
111-19-203	New	Vol. 44, Issue 12
111-19-204	New	Vol. 44, Issue 12
111-19-205	New	Vol. 44, Issue 19
111-19-206	New	Vol. 44, Issue 19
111-19-207	New	Vol. 44, Issue 22
111-19-208	New	Vol. 44, Issue 22
111-19-209	New	Vol. 44, Issue 29
111-19-210	New	Vol. 44, Issue 29
111-19-211	New	Vol. 44, Issue 29
111-20-1	New	Vol. 43, Issue 5
111-20-2	New	Vol. 43, Issue 5
111-20-3	New	Vol. 43, Issue 5
111-20-4	New	Vol. 43, Issue 5
111-20-5	New	Vol. 43, Issue 5
111-20-6	New	Vol. 43, Issue 5
111-20-7	New	Vol. 43, Issue 5
111-20-8	New	Vol. 43, Issue 5
111-20-9	New	Vol. 43, Issue 5
111-20-10	New	Vol. 43, Issue 5
111-20-11	New	Vol. 43, Issue 5
111-20-12	New	Vol. 43, Issue 5
111-20-12	New	Vol. 43, Issue 5 Vol. 43, Issue 5
111-20-14	New	Vol. 43, Issue 5
111-20-15	New	Vol. 43, Issue 5
111-20-16	New	Vol. 43, Issue 5
111-20-17	New	Vol. 43, Issue 5
111-20-18	New	Vol. 43, Issue 5
111-20-19	New	Vol. 43, Issue 5
111-20-20	New	Vol. 43, Issue 5
111-20-21	New	Vol. 43, Issue 5
111-20-22	New	Vol. 43, Issue 5
111-20-23	New	Vol. 43, Issue 5
111-21-1	New	Vol. 43, Issue 11
111-21-2	New	Vol. 43, Issue 11
111-21-3	New	Vol. 43, Issue 11
111-21-4	New	Vol. 43, Issue 11
111-21-5	New	Vol. 43, Issue 11
111-21-6	New	Vol. 43, Issue 11
111-21-7	New	Vol. 43, Issue 11
111-21-8	New	Vol. 43, Issue 11
111-21-9	New	Vol. 43, Issue 11
111-21-10	New	Vol. 43, Issue 11
111-21-11	New	Vol. 43, Issue 45
111-21-12	New	Vol. 43, Issue 45
111-21-13	New	Vol. 43, Issue 45
111-21-14	New	Vol. 43, Issue 45
111-21-15	New	Vol. 44, Issue 22
111-21-16	New	Vol. 44, Issue 22
111-22-1	New	Vol. 43, Issue 36
111 44 1		voi. ∃o, issue so

Volume 44 - Issue 37 - September 11, 2025

111-22-2	New	Vol. 43, Issue 36
111-22-3	New	Vol. 43, Issue 36
111-22-4	New	Vol. 43, Issue 36
111-22-5	New	Vol. 43, Issue 36
111-22-6	New	Vol. 43, Issue 36
111-22-7	New	Vol. 43, Issue 36
111-22-8	New	Vol. 43, Issue 36
111-22-9	New	Vol. 43, Issue 36
111-22-10	New	Vol. 43, Issue 36
111-22-11	New	Vol. 43, Issue 36
111-22-12	New	Vol. 43, Issue 36
111-22-13	New	Vol. 43, Issue 36
111-23-1	New	Vol. 43, Issue 36
111-23-2	New	Vol. 43, Issue 36
111-23-3	New	Vol. 43, Issue 36
111-23-4	New	Vol. 43, Issue 36
111-23-5	New	Vol. 43, Issue 45
111-23-6	New	Vol. 43, Issue 45
111-23-7	New	Vol. 43, Issue 45
111-23-8	New	Vol. 43, Issue 45
111-23-9	New	Vol. 44, Issue 4
111-23-10	New	Vol. 44, Issue 4
111-23-11	New	Vol. 44, Issue 7
111-23-12	New	Vol. 44, Issue 7
111-23-13	New	Vol. 44, Issue 7
111-23-14	New	Vol. 44, Issue 12
111-23-15	New	Vol. 44, Issue 12
111-23-16	New	Vol. 44, Issue 19
111-23-17	New	Vol. 44, Issue 19
111-23-18	New	Vol. 44, Issue 22
111-23-19	New	Vol. 44, Issue 22
111-23-20	New	Vol. 44, Issue 29
111-23-21	New	Vol. 44, Issue 29
111-23-22	New	Vol. 44, Issue 31
111-23-23	New	Vol. 44, Issue 31
111-301-4	Amended	Vol. 43, Issue 45
111-301-5	Amended	Vol. 43, Issue 45
111-301-6	Amended	Vol. 44, Issue 29
111-301-41	Amended	Vol. 44, Issue 4
111-301-43	Amended	Vol. 44, Issue 29
111-301-44	Amended	Vol. 44, Issue 29
111-301-70	Amended	Vol. 44, Issue 29
111-301-77	New	Vol. 44, Issue 31
111-301-78	New	Vol. 44, Issue 31
111-301-79	New	Vol. 44, Issue 31
111-313-1	New	Vol. 43, Issue 47
111-313-2	New	Vol. 43, Issue 47
111-313-3	New	Vol. 43, Issue 47
111-313-4	New	Vol. 43, Issue 47
111-313-5	New	Vol. 43, Issue 47

Volume 44 - Issue 37 - September 11, 2025

Table of Contents

111-313-6	New	Vol. 43, Issue 47
111-501-5	Amended	Vol. 44, Issue 22
111-501-6	Amended	Vol. 44, Issue 22
111-501-9	Amended	Vol. 44, Issue 22
111-501-68	Amended	Vol. 43, Issue 45
111-401-35	Amended	Vol. 44, Issue 31
111-401-256	New	Vol. 44, Issue 31
111-401-257	New	Vol. 44, Issue 31
111-401-258	New	Vol. 44, Issue 31
111-401-259	New	Vol. 44, Issue 31
111-401-260	New	Vol. 44, Issue 31
111-401-261	New	Vol. 44, Issue 31
111-501-44	Amended	Vol. 44, Issue 31
111-501-113	Amended	Vol. 43, Issue 11
111-501-120	Amended	Vol. 43, Issue 45
111-501-147	Amended	Vol. 44, Issue 31
111-501-155	Amended	Vol. 43, Issue 11
111-501-161	New	Vol. 43, Issue 30

AGENCY 115: DEPARTMENT OF WILDLIFE AND PARKS

Reg. No.	Action	Register
115-2-1	Amended	Vol. 44, Issue 35
115-4-4	Amended	Vol. 44, Issue 35
115-5-1	Amended	Vol. 44, Issue 35
115-25-9	Amended	Vol. 44, Issue 35
115-25-9a	Amended	Vol. 44, Issue 35
115-25-12	Amended	Vol 44 Issue 35

The Kansas Register is an official publication of the state of Kansas, published by authority of K.S.A. 75-430. The Kansas Register is published weekly and a cumulative index is published annually by the Kansas Secretary of State.

Reproduction of the publication in its entirety or for commercial purposes is prohibited without prior permission. Official enactments of the Kansas Legislature and proposed and adopted administrative regulations of state agencies may be reproduced in any form without permission.

Current and back issues of the Kansas Register (HTML and PDF Format) can be found at https://www.sos.ks.gov/ publications/kansas-register.html.

Register Office:

Docking State Office Building 915 SW Harrison Street Topeka, KS 66612 785-368-8095 kansasregister@ks.gov

Published by

Scott Schwab Secretary of State Docking State Office Building 915 SW Harrison Street Topeka. KS 66612 785-296-4564

https://www.sos.ks.gov